Question Paper Booklet Number
(Candidate to enter and bubble this number in the
OMR Answer Sheet)

R

Signature of the invigilator
(to be obtained by the candidate)

Hall Ticket Number
(To be filled by the candidate below)

HEEEEEEEEN

Duration : 150 Minutes

Max. Marks : 150

10.

11.

12.

13.

14.

INSTRUCTIONS TO CANDIDATES
CANDIDATE SHOULD READ ALL THE INSTRUCTIONS
PRINTED ON THE QUESTION PAPER BOOKLET
BEFORE STARTING TO ANSWER.

Candidate shall write the Hall Ticket Number in the box
provided on this Question Paper Booklet before opening the
SEAL.

Candidate should not open the Question Paper Booklet SEAL,
until the indication is given by the invigilator to start
answering.

On opening the Question Paper Booklet SEAL and before
entering the Question Paper Booklet Number on the OMR
Answer Sheet ensure that the Question Paper Booklet contains
all the 150 multiple choice questions printed on it. If there are
any defects like missing papers, missing questions, improper
print, please ask the invigilator for replacement of the Question
Paper Booklet immediately.

Only after satisfying that the Question Paper Booklet is in full
shape, the candidate shall enter the Question Paper Booklet
Number on the OMR Answer Sheet.

Each question is followed by 4 choices : (1),(2),(3)and (4).
Candidate has to select only one answer choice and darken the
appropriate circle for that question in the OMR Answer Sheet.
If more than one circle is darkened for any question, it will be
considered as invalid.

Candidate has to obtain the signature of the invigilator in the
appropriate box provided on the Question Paper Booklet.
Rough work should be done only in the space provided for that
purpose in the Question Paper Booklet. No other loose sheet of
paper will be allowed into the Examination hall.

Do not mark answer choices on the Question Paper Booklet.
The digital copy of each candidate’s answered OMR Answer
Sheet will be made available in the candidate’s login in due
course.

The Question Paper Booklet is printed bilingually. viz.,
English/Telugu or English/Urdu. In case of any discrepancy
between English and Telugu or between English and Urdu
versions, English version shall be treated as final. If
appropriate word for any English word is not found in Telugu
or Urdu, it would be transliterated.

Candidate should not leave the Examination hall until the
completion of the examination time.

Candidate should not leave the Examination hall without
giving the biometric attendance. If any candidate does not give
his/her biometric attendance, his’lher OMR Answer Sheet
would not be evaluated.

Before leaving the Examination hall, the candidate should hand
over the OMR Answer Sheet to the invigilator failing which
Criminal Prosecution will be initiated as per law, besides
rejecting the candidature for this examination.

Candidates are permitted to take away the Question Paper
Booklet with them after completion of the examination and it
should be preserved till the declaration of results.

10.

11.

12.

13.

14.

ese;szggaveb DO
@D AXTFTT O HE0D SyTed o S0oBd
5T D( 50 D BPISODLEBD $HIDOOM 5CDSSB.
0255800 95 $3¥S €38 HoWID (DY D5 D AV Ieh
DO’ HS BESESNOT FBOSSBD.
@sen Ven  TOHAAS  (HTIEOD A BSEE
ST 2378 TANI0H SBB BBSIETCHE.
DFDSSD TE) DS SOA0DS oL HBAN OMR
IIPEES DS (DFTYNS0 Fodb & DoHNEHIN0T
©0NS 150 (HF)en, FE38DYS AD)Ten @) SO
SVBONVF T BE RS HOFD0N0H. IR Deen
SBESow BT DO SNO0DDBESFoNDT IO
AIRBOE D JoDA0D  HBTWE  (DF)I(E)
roSHO.
1932950 S°Q Q) BH2fen JrBMP SHBA5N DM €555
QATE0NRN)  $ad OMR  IXFGTES Jehadd S0t
JBIODNS QOIS (HFYHSSD T, 208§ BE Do
JO0NIBN.
D& (D350 TPentd 0D @S (1), (2), (3) SHBASW (4)
BIZITON. WONS 28 NDXITETOXEND  Sr(¢> OMR
DSTES D5 ILER Q8 HoROBONS H9T),
ST QONSBRN. 28 (D930 2.8¢350T) DBV SS9
Q0ONXS’ €5 [H%), TOIAT HOKEB0TI2HI0E.
DI D APAOIDAS  QodwsS A BSed
DOSEIN FOIBD.
D520(S0 S ATI0HDES DOIND SFSDD DB HD
(rough work) §5% &IBrA0NSISLD. H8F KOSE &
SIS INVOINVEE NN TOIN AT IV )
QPSS DDITON  (DFYJBD D DD DB
BHDBOTHBD. HOEH TS (DS @58 OMR
DAFETS D530 TINE), BBES JS T @550 erAS &
SRS DO 90N2TENE 0TI
19%) D550 Bod 2o (@ofR/SBentd, @oiR/eEr)
SVQODDEID. (HFTYISD S0 ROANSTS HBASD
BeoD/GEIrIGSe  DYPE B SO0 GOD,
R00IGSS” &HB OIS ™ HBHBOTIS0E.
AT 200 HT§ IBS Benth S G S0 SRS,
00 DSV Beth/EEr O’ (AN .
HBE ETHs SO @558 HDBE KO IAD DEErdE
©DEB0TIDED.
RTBFDIE3E TBOBIY RSP0 2550 D8 KA SEO
TEITA8  @0NBOIDBD. 283 er JIPYSL oS
OMR D87 D S0rrers0850 TOH2CHER.
@Zs&eN  SHIANB™ OMR  JDIFErES D30  38h
BOITONSBH BAS (BWSIS (FDETIAS Tavso &
e 2558 TI0Ey 925586 50 BCY TANDE.
DEE. 5050 (DT HEF) 55HEN 5 F0) BT
SEIH). D08 HOTOD SOB0TISE S5 $S 99

BT s

Keyfaira

(1)

HED), B HES EIB.
RKifacrs  Kegers B




Which of the following statements is/are correct in relation to the infant and neonatal mortality rates

in India as per the National Family Health Survey (NFHS)-5 (2019-21) ?

A. Infant mortality rate (IMR) decreased when compared to National Family Health Survey
(NFHS) - 4 (2015-16).

B. Neonatal mortality rate (NNMR) decreased when compared to NFHS — 4 (2015-16).

Choose the correct answer :

(1) A only (2) B only (3) Both A and B (4) Neither A nor B

205 $0en02d) &8s OB ¢ (NFHS)-5 (2019-21) [5G0 3 08050 dedered 3 0SeTe B H0220H0D

808 T5DIOS DE/DN DBIE/D ?

A, 2S00 Hoe002) e85 DB 5 (NFHS) — 4 (2015-16) & O 35580 3% svdemed Bexw (IMR) S$Hod.

B. 2aad $oenoa 8y OB (NFHS) — 4 (2015-16) & O 30910 Sdees 3% odere Bew (NNMR)

$Hod.
OB DT, DOTT W
(1) A Sr(edad (2) B3¢ (3) ANOASHBBOKr (4) A B0 B BOGY 5%

Which of the following statements are true in relation to India’s population ?

A. Sex ratio of population is expressed as number of females per 1000 males.

B. If sex ratio of population is more than thousand, it is called unfavourable sex ratio.
C. The sex ratio of population in India in 2011 was less than 1000.

Choose the correct answer :

(1) A and B only (2) Aand C only

(3) B and C only (4) A,BandC

2SS 83720 000D (80 FWOS DD 208 ?

A 1D 1000 08 HEOK &) (R HoDS EFHOS” B> OO0 NI (sex ratio)  BOOCHEIS.
B. 2°2r ©0f Q) So0S E0T B0 GO, AR (DDEre Dok AD)E e0erd.

C. 2011 erdesT33 a3er oK DN 1000 0T 50) ST SO&.

OB QAR DOTNE W :

(1) A SHOAW B S(ehad (2) A SDOAW C S

(3) B sHBAW C S(ehadd (4) A, BX83» C

In which of the following years was the National Population Policy announced in India ?
(1) 2014 (2) 2016 (3) 2000 (4) 2020
ePESTIOS 20D BT DT, 808 T3S’ &) D03 B0’ (DEEI0TTED ?

(1) 2014 (2) 2016 (3) 2000 (4) 2020

The total fertility rate (TFR) in India during 2015-16 as per the National Family Health Survey
(NFHS)-4 was nearly :

(1) 16 2 19 3) 22 4) 25

205 000 &8s OB (NFHS) — 4 (HSE0 2015-16 S orESE50S" Inho HoerS'es 18 Béw (TFR)
T

(1) 16 2 19 3) 22 4) 25

Which of the following statements is/are true in relation to crude death rate (CDR) of India’s
population ?

A. During 2014-19, the crude death rate was less than 7.

B. During 2006-11, the crude death rate was more than 7.

Choose the correct answer :

(1) Aonly (2) Bonly (3) BothAandB (4) Neither A nor B

2 BHTIF 2372y ABNEY S0edE (crude) sHBETS BEN (CDR) $ HOD0AOD (B0 a5 se>eS dA/DD 28y ?
A, 2014-19 2088 S0evE S0BeTeed B 7 0T HB0) I GO .

B. 2006-11 055 30658 037> B 7 F0TI QLI GO,

OB QAT DOTHE W :

(1) A Sr(ehad (2) B SreHed (3) ABASHBTOr (4) A HBAN B BOLy 5%
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The rate of natural population growth in India had been steadily declining since the early 1980s,
despite an increase in absolute number of population, owing to :

(1) The falling of birth rate was faster than death rate.

(2) The falling of birth rate was slower than death rate.

(3) The increase of birth rate was faster than death rate.

(4) The increase of birth rate and death rate was almost same.

B DOPSS” DENDO &S)N)E3E, 19800 (BFE00 0B arBESTFOS” HoTes ey DEMHSS Bew
(0O SHes SDIOA. @0CHZL Hed B0 DeDOT

(1) XBegred> BEw F0T JHEOM 233> Bew $3cs0.

(2) BT Bew F0T JXIAM 23377 B $ch0.

(8) XBeTred> BEw 0T JHEOM 233°> Bew DBKCO0.

(4) B3T° B, BT BN TPE) 253 DO E&0BES0.

Which of the following schemes are implemented in India to reduce population growth ?
A. Accredited Social Health Activist (ASHA) scheme

B. Scheme for provision of Pregnancy Testing Kits

C. Mission Parivar Vikas

D. Clinical Outreach Teams (COT) scheme

Choose the correct answer :

(1) A and C only (2) BandD only

(3) A, C and D only (4) A B,CandD

2PSESTIOS Brer DEHEDD SHOITE (OB NPT D) €950 TONDTFOW ?
5805 FOBS R esiis 55558 HSE0 (ASHA H¢E0)

B. #8)96% 86 oyt HHEo

C. AN NBd AR

D. 8358 Ze3S 3 (COT) Hvo

>

OB QATPFRR), DOTHE W :

(1) A B0 C Sr(ehad (2) B OBA D &S3°(ehadd

(3) A, C 8w D Xr(ehadd (4) A, B, C 0805 D

Arrange the following states in descending order based on their population in 2011 (as per Census
2011):

A. Bihar B. Tamil Nadu C. Maharashtra

D. Uttar Pradesh E. Karnataka

Choose the correct answer :

(1) A,B,D,C,E (2) D,B,C,AE

3) E,C,D,B,A 4) D,C,A B E

2011 & esafr Ol 2rer (2011 Barer SEe (D5°E0) edorr (8§08 Tl @& $0eS
95080350

A. D5B B. ST C. NI
D. &3 1033 E. §0°&8

OB QPR DOTNT AW :

(1) A,B,D,C,E (2) D,B,C,AE

(3) E,C,D,B, A (4 D,C,AB,E

(r]: Kifacra Fipana ¥ Kepuira g O



10.

11.

(r]: Kifacra Fipana Kepuira g O

Match the following demographic indicators of India with their rates :

Demographic indicator Rate
A. Infant Mortality Rate in 2020 1. 23-7
B. Birth Rate in 2020 II. 60
C. Death Rate in 2020 III. 28-0
IV. 195
Choose the correct answer :
(1) A-IT; B-I; C-III (2) A-IV; B-II; C-I
(3) A-III; B-I; C-II (4) A-III; B-1V; C-II
1BO& 2rSST38 232G DD ¢S DEIS 235DETSM
20727 ) Jév
A 2020 &S % HSeTe Bew I 237
B. 2020 & 2337 Bew I. 60
C. 2020 ¢S SHSeTe> B IIL. 280
IvV. 195
OB QAT DOTDE W :
(1) A-II; B-I; C-III (2) A-IV; B-II; C-I
(3) A-III; B-I; C-II (4) A-III; B-IV; C-II

As per 2011 population census, match the following states with their respective population :

Name of the State Population (in lakhs) (approximately)
A. Nagaland I 30
B. Arunachal Pradesh II. 11
C. Mizoram III. 20
D. Meghalaya Iv. 14
Choose the correct answer :
(1) A-II; B-I; C-IV; D-III (2) A-IV; B-III; C-I; D-II
(3) A-IIL; B-1V; C-I; D-I (4) A-I; B-IL; C-III; D-IV
2011 72> SELe (H5E0, (OB T aFe) a7¢3 2307eed 235030 )5 :
0920 DD B2 (98 ) ({0I°CDT)
A. orerod I. 30
B. @&l (DBT . 11
C. 1T L. 20
D. 0ArOOH V. 14
DB DAFETTR), DODE TOMW
(1) A-II; B-I; C-IV; D-III (2) A-IV; BIIL C-I; D-II
(3) A-IIL; B-1V; C-I; D-I (4) A-I; B-IL; C-III; D-IV

In the national income accounting concepts, any excess of tax revenue over government spending is
called :

(1) Public goods (2) Public deficit

(3) Public saving (4) Public expenditure

2PSOSTTTOD F0L30N 2SO, (525065 ¢ 9500 0T OO &d) D) TR DN DENE ?
(1) JDT 3MHew (2) (DD Sen

(3) DB § Y (CHYRMPSANGEINI{OW)
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Which of the following is not a component of total demand for domestic income/output ?
(1) Consumption spending by households

(2) Investment spending by business firms

(3) Government purchases of goods and services

(4) Net borrowings from other countries

1Bo& e3¢5’ DO TIOH 3000/ Eseh e TINE) IS0 BIOH BSTo& &S 28 230 57 ?

(1) B0EN025° DATZFH 55300

(2) 35S OO DEP2EB H3OHO

(3) (0256550 TBNEY 5. NHEN HBOIN WO T

4) 9SS T DHOG DG 207D

What is the term used in national income accounting when depreciation charges are deducted from a
country’s Gross Domestic Product ?

(1) Net National Product (2) Net Domestic Product

(3) Real Net Domestic Product (4) National Income at constant prices

B30 BwE) W BATrSIBS’ H0G SSHGEOE SVSODT WAOS A FBOSTEOD e ot3ohsS’
D30 DRSS ?

(1) QES 20 ereh)D 2) QS TIOH eseh )
(3) FADE JES TR eeh e @) DS QES) SSS 2305 SO0

Which of the following statements is/are true in relation to the concepts of personal and disposable
incomes ?

A. The consumption expenditure + savings of an individual is equal to disposable income of an
individual.

B. If the personal taxes are added to disposable income of an individual, we get personal income.
Choose the correct answer :

(1) A only (2) B only (3) Both A and B (4) Neither Anor B
5581968 0B050 H5A5TE STTOAD 2FHSDE H0DOB0D 1808 TIPS DE/D 2.8 ?

A, 28 358 TB0EY DATZH 55AD0 + PN €8 358 TINEY 508G A8 DS0.

B. 558665 50100 2,8 558 T30E), 95058 3OS AW, 0550 S58Ked 367000 SN0A.

OB QATPETRR), DOTNT RN :

(1) A S(ehad (2) B Xr$d (3) A8 BBOL”  (4) A HBCSH B BOGY 5°)

Who were the chairman and members of the National Income Committee set up in 1949 by the
Government of India ?

(1) V.K.R.V. Rao as the chairman and P.C. Mahalanobis and D.R. Gadgil as the members.

(2) P.C. Mahalanobis as the chairman and D.R. Gadgil and V.K.R.V. Rao as the members.

(3) D.R. Gadgil as the chairman and Dadabhai Naoroji and P.C. Mahalanobis as the members.
(4) Dadabhai Naoroji as the chairman and V.K.R.V. Rao and P.C. Mahalanobis as the members.
1949 &° 2755 125065 $0 JT°YEN TR 2305 0% E0¢3 TNEY TH2S SDBA5M HEDFEN DSSD ?

(1) TS ™ D.3.e35.9. T° HOGIN DEDZENT .. DTSNV 08w B.e85. GRS,

(2) TEIS T DR, DTSNV O DD @.e85. MRS HOAM N.3.e35.9. O°.

(3) BRI ™ B.e88. RS 0850 HZHFENTT TPe3reroN 828 DO D.J. NDITOSD.

(4) BARS ™ rereron 3828 0B HZHIENT .3.e85.D. U7 S0OAN .2, NITOSDD.
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Which of the following statements are true in relation to national income in India ?

A. The first official estimates of national income were prepared by the Ministry of Statistics,
Programme Implementation.

B. The first official estimates of national income were prepared with base year 1948—49 at constant
prices.

C. The estimates of national income published in 1956 were known as the conventional series.
D. National income under the title conventional series was published till 1976.

Choose the correct answer :

(1) A, Band C only (2) Band C only

(3) A and D only (4) A, CandD only

2PESTIS 2P BOSTTOSTE HOOS0D (B0 T DSOS DD 20y ?

A. B0 DCES 2B 0T HET0E, DD ) OEIh ¢ T SOIFS TVOA.

B. S0 B0¢¢3 0050 2e3OSTI00 @0t 1948-49 3578 D0 IE06 SaSPSd TFS.

C. 1956 & [HTHBODS 2P 0STTTO0 LOTITED DOITTAD (363 (conventional series) €9 DENTE.
D. DONTO% (363 DS 2rBASTTOST) 197655 05565350 S50 (HeHB0IE0 38A0E.

OB DATPETRR), DOTNT AW :
(1) A, B 83w C S (2) B OO C S
(3) A OB D (v (4) A, C08a50 D S5°(e¢hadd

As per the second advance estimate of national income 2022-23 released by the Ministry of
Statistics and Programme Implementation of India, arrange the following years in ascending order
based on the share of agriculture and allied sectors in gross value added (at current prices) in each
year :

A. 202021 B. 202122 C. 2022-23
Choose the correct answer :
(1) C,A,B (2 B,C,A 3) C,B A 4 AC,B

28¢5 (H20B S BETP0E SDBAM NPT e9a0eN 00(3¢h ¢ TP DA T DO SN0 2P ATTON
0TITTeN, 2022-23 (DGO, (80O H0NBIT?E AP DeN NA0NES” SERHTPOH BN R0 Borre
FEF (WS SEOST) STFSEOT (0B D05 IT™OL 3T (006" €650

A. 2020-21 B. 2021-22 C. 2022-23
OB NATPERR), DOTNT AW :
(1) C,A, B (2) B,C,A 3 C,B A 4) ACB

Arrange the following states in descending order based on per capita net state domestic product of
these states (in rupees at current prices 2011-12 series) in the year 2020-21 :

A. Maharashtra B. Gujarat C. Telangana D. Andhra Pradesh
Choose the correct answer :
(1) A,B,D,C (2) C,AB,D (3) B,D,A,C 4 C,B,A,D

1808 T 2020-21 &' &8 T PO S$OI8 JES T3 BITreh )& (SrrodeS’ HBA5M (DS dSeeS
2011-12 (363) SO IS SPT (00 €9s0ED )50 :

A DITR B. HhaoS C. S8oorrs D. &0 D3TT
OB NPTV, DOTNT AW :
(1) A,B,D,C 2 C,A/B,D 3) B,D,AC 4) C,B,AD
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Match the following List-I with List-1I :
List-1 List-I1
A. Gross National Product I. Net Domestic Product at market prices + Depreciation
at market prices
B. Net National Product at II. Gross Domestic Product at market prices — Depreciation
market prices
C. Gross Domestic Product III. Net National Product at factor cost + Indirect taxes — Subsidies
at market prices
IV. Net National Product at market prices + Depreciation
Choose the correct answer :
(1) A-III; B-I; C-1I (2) A-1V; B-III; C-I (3) A-II; B-IV; C-III (4) A-I, B-II; C-IV
1808 OP-I S @070 OV-IT S 0TS 235DV :
OI AT
A SBLE SEOS e erBT3rd)B 1. SrBLE A3 QES TATITS)S + S0
B. SB35 S0 QS rS®Bre )@ I SrByE 3o Qre> BATIred )8 — $SHcde
C. B8 3o &ro BAWrs ) 11 &) SE DA S9als AES FSTred )& + STE.
D) e - D YBen
IV. S38365 S8 QES eeddBrres 18 + eSSHrdesed
OB QAT DOTDE W :
(1) A-IIT; B-I; C-II (2) A-IV; B-III; CI (3) A-II; B-IV; C-III (4) A-I; B-II; C-IV

Which of the following statements is/are true in relation to national income ?

A. National income calculated with a base year is known as national income at constant prices.

B. National income estimated at current prices is not inclusive of price changes.

C. During war period, national income is estimated at future prices also.

D. National income divided by total population gives personal income.

Choose the correct answer :

(1) B and C only (2) A only (3) AandD only (4) Cand D only

2PSBOSTEOITRE HODOEODN 1808 T DSOS DE/AD 2.0 ?

A ST D0HBIE0S OHT® BV 2FBOSTTTOT), VE BB 2P 0STTON0 0EFED.

B. WS SEOS 0T SV 2PSOSTTEON0, GBS’ ST SIS DO8dSE Sy (not
inclusive).

C. A 50 FRATT AT BAASS S’ S5 0T SIS.

D. 2RATErosT) INB0 BT erA R S8 (FaH8Y) ecraHo SNOE.

QBN DIPGERITR), DOTNT AW :

(1) B OO C AP (2) A Se(ehad (3) A DNOAND ISP (4) € HOAW D S5

Which of the following is not the primary goal of the Indian Government’s Minimum Support Price
Policy, which has been fixed at an incentive level ?

(1) To induce more investment by the farmers in the farm sector.

(2) To enable the poor to buy foodgrains at very low prices.

(3) To motivate farmers to adopt improved crop production technologies.

(4) To enhance production, thereby increasing farmers’ income.

1808 >3’ DO (Fer)erE oS APoNODS 23Beh (H20eh DD DDA 58 DFFSO TwE) (DS
& 50 (goal) 57D ?

(1) S535 0D B0H06S’ EGZ0e0 D82S DERDE DT DO BDOTIEO.

(2) €96 %025 B 5E VLN €355 P sOD TN TREIEY T3 ed0.

(3) DB HOL) b P0TeIES EGF0EN 3T DO TDOTIEO.

(4) &SHIB DO, i T° ESEHE e3TPAITQ) DOTIEO.
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As per the final estimates of production of major crops during 2022-23 in India, arrange the
following crops in descending order based on estimated production of the given crops :

A. Pulses B. Oilseeds

C. Maize D. Coarse cereals
Choose the correct answer :

(1) D,C,A,B (2 C,B,A,D
3)D,B,C,A 4) B,D,C,A

2r3HTBF0S’ 2022-23 S (DTS DO G&H)B TNy A ONT'O (DGO, (80O DL (NS Ho
TB0E), E5¢5 )8 SO IS EPET E00ES €958 YW :

A D)) TFIRseN B. J&»rs foxzen

C. JEpEd e D. 08 e esen
OB TR, DOTHE DI :

(1) D,C,AB 2) C,B,A,D

3) D,B,C, A 4 B,D,CA

In India, the total foodgrains production (in lakh metric tonnes) in 2023-24 (second advance
estimates) in kharif season was estimated at about :

(1) 1481 (2) 1586

(3) 1542 (4) 1508

PSESTIOS’ 2028-24 (BOCSS MO €90TITeN) HED D3NS’ 0TI FANDGS VNSO 35358 s
&5 )8 (©F. IEST 2e0)OS’) XTSI :

(1) 1481 (2) 1586

(3) 1542 (4) 1508

Which of the following statements are true in connection with the production of crops in India in
2021-22 (Fourth Advance Estimates) ?

A. Telangana was the third largest producer of cotton in India in 2021-22.

B. Uttar Pradesh was the largest producer of total foodgrains in India in 2021-22.

C. Telangana was the largest producer of maize in India in 2021-22.

D. Madhya Pradesh was the second largest producer of wheat in India in 2021-22.

Choose the correct answer :

(1) A, B and D only

(2) C and D only

(3) A, B and C only

(4) A,B,Cand D

2021-22 (T°5 SN0 @0otdaren) ¢ arSSTIoS HOLS EehI1BE H00HOD (B80S T WIOS D
QBN ?

A, 2021-22 & 2rESTIOS H eeh 1B’ BOOMTE TR0 SIPCEsd €8 DG &b YBTEM™ GOB0D.

B. 2021-22 ¢S 23T 35558 Prrs® b )BES &S (DT830 G )BT G0B0A.

C. 2021-22 &S 2rESTI0S BOOME 98 DG B0ELE ), &b IR G0B0A.

D. 2021-22 ¢ 2385506 FesD Esed IS 80638 (DT38 BOBS B DE €5ed 1B EM™ GOROE.

OB DAV, DOTNE R :

(1) A, B OSw D S5(ehad

(2) C X805 D S35

(3) A, B HOAW C S

(4) A, B,C8a» D



25. Which of the following statements related to agricultural marketing in India are true ?

26.
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A. Electronic-National Agricultural Marketing (e-NAM) was launched in 2016.

B. A Central sector scheme named ‘Formation and Promotion of 10,000 Farmer Producer
Organizations’ was launched in 2023.

C. To address the issue of transportation of agricultural produce of farmers, Government of India
launched Kisan Rath Mobile App.

D. Through the Agriculture Infrastructure Fund, the Central Government is providing medium term
loans only, for post-harvest market infrastructure.

Choose the correct answer :

(1) A and B only (2) Band C only

(3) A, C and D only (4) A and C only

2PBHTFOS S5 OD 558330050 H0220E0D) 1808 & SWEOES D 2 ?

A QOIS - TASS e9|AE )5 538,300 (e-NAM) & 2016 ¢ |FS0D0TS.

B. ‘Yr3AS @0& (HITAS &9 10,000 57820 (8cirsdd esOTBAS) @ B0 (H20eh S D), 2023 ¢
(B0 0T,

C. J3IONTHOZ D0DOODS S TOD &I BT DDA DBNY 0TI, 23S
(02065 50 8PS EH JINBO AT (B0,

D. H0& S8 (harvest) ¢0°5eh €950BNTDS 33780 STTOE It FBLY, B0 (0206550 530D
FOE 53500 A T ST° 0S5O 22NET ST°(had ODNOA.

OB DATPETRR), DOTNT R :
(1) A B0 B Sr(ehad (2) B OO C S
(3) A, C HBS» D Xr(ehad (4) A SO C S

Which of the following statements is/are true in relation to the agriculture sector in India ?

A. For 2022-23, the Central Government fixed the agricultural sector credit target at around ¥ 185
lakh crore.

B. Central Government launched income support scheme for farmers through Pradhan Mantri
Kisan Samman Nidhi in 2021.

C. Pradhan Mantri Fasal Bima Yojana (PMFBY) was launched by the Central Government to
address the problems of high premium rates of insurance for agricultural workers.

D. In 2023-24 Union Budget, around ¥ 2 lakh crore was allocated to the agriculture sector.

Choose the correct answer :

(1) A and B only (2) Aonly

(3) B and D only (4) CandD only

2 BHTIE 530D BSOS HODOHOD (80O TS DA/ ) ?

A, 2022-23 03¢5 30°8 1, TO(E 19928065 0 0SS 18'5 ©F.© §E BraraNe) S§aradd S0 HSHS
@& 50 ABaN0DOA.

B. 2021 ¢ (D5 0@ 8IS H3S G & 50° BO(ES 1985065 50 359 ONTEIE 8TaD 0P HFHSY
B0V,

C. S50 56E0E DSTE H0DOE0D) JEVFST €Y, [DMONO BE DD HONYB0TIETIE old
19296 £0 (DTN HIS DS TBorezed (PMFBY) HBSQ), [ E0D0D0E.

D. 2023-24 S0(&5 DBE S, ST T 2 . T S350 SorrdE TEronoTdd.

OB QPR DOTNT AW :
(1) A SO B S35°(ehadd 2) A S
(3) B 0805 D S(ebadd (4) CHOAN D Sr(ehad



217.

28.

29.
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Which of the following statements are true in relation to irrigation schemes in India ?

A. With an aim to enhance physical access of water on farms and expand cultivable area under
assured irrigation, the Central Government launched Pradhan Mantri Krishi Sinchayee Yojana
scheme (PMKSY).

B. Har Khet Ko Pani is a major component of PMKSY.

C. Surface Minor Irrigation scheme is a sub-component of Har Khet Ko Pani.

D. PMKSY was launched by the Central Government during 2013-14.

Choose the correct answer :

(1) C and D only (2) A, CandD only

(3) B and D only (4) A, Band C only

2rSESTI0S” Qe BB DHTOE H020H0D (B0 e sS A 23 ?

A, S5ST0H BrANOR 2TRE0T DDy 0NN’ GOT VSO TSP HBON 5N AHDES De¢3
e 80 % NGO INBOT ©F 508, TS 0 SPad DOIA® B (PMKSY) DS
30 19206 50 (PB0DOD0A.

B. &0 BS & > 93 PMKSY & 28 (D5 230,

C. &HOSD VD) D TSRO DHE0, 570 BS & 3 DPE0 & 28 & 23io.

D. 2013-14 ¢ B0 (520eb 50 PMKSY Q (3080008,

OB QATPETERTR), DOTRE AW :
(1) C HBAW D Xr(ehadd (2) A, C08A50 D S35°(ehadd
(3) B 0B D X(ehadd (4) A, B X08a C Xr|ehad

Arrange the following crops in ascending order based on the minimum support prices (in ¥ per
quintal) of these crops for kharif marketing season 202324 :

A. Jowar — hybrid B. Paddy — common C. Maize D. Ragi
Choose the correct answer :
(1) D,B,C, A 2 C,D,B,A (3) B,C,A,D 4 C,B,A,D

2023-24 28D SB8e300 500 D DB SBD (BFraHOS 1D §s0trendd) edor 180
D0 ST (550065 €950 IS :

A Tl en - D& B. 358 -Jrcrde C. [EEN) D. ooHewn
QOB QP DOTNT W :
(1) D,B,C, A (2) C,D,B,A (3) B,C,A,D (4) C,B,A,D

Which of the following statements is/are true in relation to agriculture labour in India (as per the
Annual Periodic Labour Force Survey Report 2021-22 and also broad industry division based on
National Industrial Classification — 2008) ?

A. Percentage of male workers in agriculture sector was less than the percentage of female
agriculture workers.

B. Around 70% of total agriculture workers were female.

Choose the correct answer :
(1) A only (2) B only (3) Both AandB (4) Neither A nor B

508 @358 568 38 DB 5 AFOE 2021-22 HEON 2D FOFWE SOEGE — 2008 3 STFINRS IQYeh
HOFRE DS (D50, ZrESTIOS” 59°A 56028 $88 02050 808 & sOES” IO/ 2.y, ?

A, S5STOD B0H0ES" BN THIH FH0 VTF® S5ITOD 52650 F°H0 0T B0 ST GO,

B. QAT 70% 5§00 5285000 (workers) sdar$e.

OB QAP DOTNE W :

(1) A S (2) B SreHed (3) ABASHBTOr (4) A HBAN B BOLy 5%



30.

31.

32.

33.
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Which of the following statements related to ‘One Nation One Ration Card’ is/are true ?

A. There is seamless access to rations across India after its launch.

B. Central Government launched the scheme in the year 2016.

Choose the correct answer :

(1) A only (2) B only (3) Both A and B (4) Neither A nor B

2.8 BH0 2,8 BAS 57050 0000H0D) (800 550’ DA / I &uidy, ?

A BAD |TB0DODNS $Teseh 2rESBI0 VDO S TAS D EOAS B DEFAHOTI BAS
POCHEFE R2))0NEN SOATFANTON.

B. 30| 0206550 & DY, 2016 & (3rB0DODOA.

DB DIFETTR), DODE TOWW

1) A SreD (2) BIreD (3) ABASHBTOG: (4) A NBA B BO&y 5%
Which of the following are the pillars of India’s Foreign Trade Policy 2023 ?

A. Ease of doing business B. Emerging areas

C. Export promotion through collaboration D. Import substitution
E. Incentive to remission
Choose the correct answer :

(1) A,B,C,Dand E (2) A, B, C andE only

(3) B, C and D only (4) A,D andE only

1808 ¢3S arESTHF DT T35S DGTS0 202350 HEd sue D02TEN D ?

A, 00T TS0 TONRO B. &30 ©0Fe/|2rP0Ten
C. II5E0 @ ST° NN D0 D. &N (De53r) 000
E. |88 &d3050

OB QAP DOTHE 0 :

(1) A,B,C,D X835 E (2) A, B, C 0005 E S5eba
(3) B, C s0HB» D Xr(ehadd (4) A, D SHOW E S5°(ehad
In India, the Index of Industrial Production is constructed on :

(1) Yearly basis (2) Quarterly basis

(3) Monthly basis (4) Weekly basis
2PSESTIOS, FOFWE 55318 D) A eSrEomr A8

1) 5708 [aredd&Ed (2)  (BIXrVE (3D ED

(3) Bod rSHOES 4) 8 (DSDOES

Which of the following is true in relation to National Renewal Fund (NRF) ?

(1) It was set up in 1996.

(2) Its operation period was 5 years only.

(3) Financial assistance from NRF has been provided for the Voluntary Retirement Scheme.
(4) Tt provides financial assistance to public and private sector employees.

205 HSBABED AE (NRF) & 50200800 1808 ¢3S’ D& 2,9 ?

(1) A 1996 S° o0 TFCR.

(2) B eSvew (operation period) S°0 5 05T N S3°(¢H.

(3) 2B NS AE H0G D HIFATAY, D3I DD DD HHEO FEE OT.
(4) (020655 B0 B (HONEN B0H EESHOZ &8 DO D HIFOHO OANOAR.



34.

35.

36.
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Which of the following statements is/are correct with regard to the services sector in India as per
‘Economy Survey 2021 — 22’ ?

A. Majority of the Gross Domestic Product (GDP) was contributed by the services sector in
2019 — 20.

B. Hotels and tourism are a part of the services sector.

C. Defence and public administration are not a part of the services sector.

Choose the correct answer :

(1) A only (2) B only (3) A and B only (4) A,BandC

'DEINE DB § 2021 — 22" (DSE0 arSESTI0S” 90 B0MTE H020E0D (80 55O DA/ DB ?
A. 2019 - 20 & re> BRTITSHIBS’ (GDP) B0 23°H0 ede> B050 T ST° 90O0TIDR0A.

B. SF&S) O8O0 HT5EE0 S S0KoeS 28 oo,

C. I S0K0S” B9 0O 192555 e 2350 5°Y).

OB AT, DOTNT W

(1) A Sr(edad (2) BT (3) A DOAN B ST (4) A, B O8Aw C

Which of the following statements is/are true with regard to digital services in India ?

A. Jeevan Pramaan is a biometric enabled digital service for pensioners.

B. The Digital India Programme was launched in 2019.

Choose the correct answer :

(1) A only (2) B only (3) Both A and B (4) Neither Anor B
2r3HTF0S” BBLS VIO H00H0D (0B WO DE/AD 20 ?

A BIS DSTD 9TE VRIS TEOEL ESTNT 2TIT(E3E HBES .

B. &286S R0&05 HH5R2019 ' (FS0D0TS.

OB QAT DOTDE W :

1) A7 (2) B ST (3) ADBCASHBTOr (4) A HBAN B BOLy 5%

Which of the following statements are true in relation to the industrial policy resolutions in India ?
A. In India, the First Industrial Policy Resolution was announced in 1948.

B. In 1948 Industrial Policy Resolution, it was stated that arms and ammunition, atomic energy
and railway transport would be the monopoly of the Central Government.

C. Another industrial policy resolution was announced in 1956.
D. In the Second Industrial Policy Resolution, all industries have been classified under five

categories.
Choose the correct answer :
(1) B, C and D only (2) A, Band C only
(3) A, Band D only (4) A and D only

2PESTIOS FOFNE IS BT OZ H00H0D (808 5O’ DR 20 ?
A, ESTIOS, BNHES FB|FTWE DG BT, 1948 ¥ (HEE30TS.

B. &SA0G7e0 0835 000, @038 HOAN BB Sarea® o (0250655 DS L050M EOETFON
1948 F8[FE IS BTSS0S TH Y0 238H0E.

C. QOFE FOFWE 5 BT, 1956 &° (55302550 238A0E.

D. B0t FOFE IS BT3RS0 HOF0OY 03D %0 hSKiehent SOEBoT .
OB N DIPERR), DOTDE RN :

(1) B, C SH8Aw D Sr(ehad (2) A, BHBAW C Sr(edad

(3) A, B 0O D S(ehad (4) A BAN D S3°(hadd



37.

38.

39.
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Which of the following statements are true in relation to Micro, Small and Medium Enterprises

(MSMES) in India ?

A. Udyam Portal was launched by the Central Government for registration of MSMEs.

B. Samadhaan Portal was launched by the Central Government for filing of grievances by MSMEs.

C. Central Government created a sub-portal within Samadhaan Portal for reporting the dues and
monthly payments to MSMEs.

D. With the help of Udyam Portal, in 2021-22, more than 60 lakh MSMEs registered.

Choose the correct answer :

(1) A, B and C only (2) BandD only

(3) A and C only (4) A, CandD only

2PSESTIOS” BTE 2 DY SEST® DO 05 5855 HBFe0OE (MSMESs) 50200500 1808 T 5dseeS DD

20 ?

A. MSME © J&35°¢0 §E50 0(¢5 (02565 50 €5¢55e0 PSS (Udyam Portal) & (Q°G0D0D0A.

B. MSME e» ) @0)00e (grievances) 8D0H BANETFIE 30 (D2NHS0 Orers S &
[PE0D00H.

C. MSME 0 IJ08 TBOoRSoODS In&en HBAN MSME ©F) TXOJS JIOT8 0T
QIE0IETIE JIPETS PGS S 28 & S & ToE 19925065 50 DT YD TROE.

D. ¢35 (Udyam) FOS H5FADH06, 2021-22 S0, 60 ©F 0 S0 D503 MSME €0 SR S*20G°0m.

OB DAFPEFTV), DOTDE RN :

(1) A, B OO C S35 (2) B OBAN D &S3°(¢hadd

(3) A X080w C S(ehad (4) A, C08a50 D S5°(¢hadd

Arrange the following development finance institutions on the basis of their year of establishment :

A. Industrial Development Bank of India (IDBI)

B. Industrial Investment Bank of India (IIBI)

C. Industrial Credit and Investment Corporation of India (ICICI)

D. Industrial Finance Corporation of India (IFCI)

Choose the correct answer :

(1) D,A,B,C 2) C,B,A,D 3) D,C,A,B 4) B,C,D,A

1808 @9DSIB DB DO @9 FN0IVAS D08 )T°e) SGESOM @B Yo :

A, 2r8ed BB ©9DNHQ 2rsody (IDBI)

B. 2735 ard(3a0E 0P 2rsosy (IIBI)

C. 278 TBIFE IBN SHOAN PR 528 )BAS (ICICI)

D. 278e rO|IF0E D 58 BAS (IFCI)

OB QATPFRR), DOTHE W :
(1) D,A,B,C (2 C,B,A,D (3) D,C,AB (4 B,C,D,A
Match the following mega clusters with the place of their location :
Mega Cluster Location
A. Jewellery cluster I. Bhiwandi
B. Handloom cluster II. Chennai
C. Leather cluster III. Ludhiana
D. Powerloom cluster IV. Mumbai

V. Varanasi
Choose the correct answer :

(1) A-IV; B-V; C-II; D-I (2) A-I; B-V; C-IV; D-III
(3) A-IV; B-IIL; C-V; D-I (4) AL B-I, C-II; D-IV
B0 1 0T ae3Q DTN BIS (DBFOS 23535506 :

Sgdivel (5550
A 308 §06 L darod
B. T3¢ 500 I 3
C. BHG (Few) $0 M.  erdATw
D. D3Dexrsd 890 IV. &S00z

V. &0

QBN DGR, DOTNT W :
(1) A-IV; B-V; C-II; D-I (2) A-I; B-V; C-IV; D-III
(3) A-IV; B-III; C-V; D-I (4) AJII; B-I; C-II; DIV



40.

41.

El O{a@fmw d@fmw (14) % Cind d@ it d Ol

Consider the following :
Assertion (A):  The liberalisation of the Indian economy in 1991 unleashed competitive markets.

Reason (R) : Compulsory licensing for the production of certain security and strategic related
commodities was one of the salient features of 1991 Industrial Policy Resolution.

Choose the correct answer :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).

(3) (A)is true, but (R) is false.

(4) (A) is false, but (R) is true.

Bo& 550D HBKe3odok :

SIS (A): 2SS @308 S350 1991 S FNIBS DBDESe 9% 578 &5 ©K OBV

5690 (R) : 231965 SO 8556528 D00 SNYD Eeh IV S$DIVIOT BIS) BNF T IO
1991 BF°E DTS TR0’ 208 (DT 9030.

OB QAT DOTDE W :

(1) (A) HBAW (R) DO 2,0)) DB (A) 30 (R) OB DedBe.

(2) (A) HBAW (R) BOGR® 200), SR (A) 30 (R) SO D389 5°¢0.

3) (A) 2o, 5 (R) ).

4) (A) ) 5 (R) o))

Match the following five year plans of India with their objectives/focus :

Five Year Plan Objective/ Focus
A. Eleventh Plan I. Agriculture
B. Ninth Plan II. Faster and more inclusive growth
C. Fifth Plan ITII. Growth with social justice and equality
D. Second Plan IV. Rapid industrialisation

V. Removal of poverty

Choose the correct answer :

(1) A-V; B-IIL C-I, D-IV

(2) A-II; B-III; C-V; D-IV

(3) A-IL; B-V; C-1V; D-III

(4) A-III; B-II; C-V; D-IV

2G5 DOTINSG (DT VEO ¢ GBFTOS /SR TPOODS 0FTOS 3HNSETI0H

0033 (e DS GOF0/ B B0 @050

A DRTOGBS DTS I S5O0
B. SIS (HTDE IL  S18S6BS 80 ©9OE HADS 59O
C. AN (DeTrdE ML 35re38 &S00, DS 068 @S o9&
D. B0 (TP IV. ¢8558 r03085Sed
V. 288 ddmeos
OB N DIFPTRR), DOTDE RN :

(1) A-V; B-IIL C-I; D-IV
(2) A-II, B-IIL, C-V; D-IV
(3) A-IL B-V; C-IV; D-III
(4) AJIIL; B-IL, C-V; D-IV
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43.

44.
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Which of the following statements are true in relation to five year plans of India ?
A. First Five Year Plan was launched in 1951.
B. First Five Year Plan was a successful plan.

C. The Third Five Year Plan was a total failure in reaching the targets laid down at the beginning
of the Plan.

D. Annual plans were implemented for the period 1965 — 1969.

Choose the correct answer :

(1) A and B only (2) A, CandD only

(3) B and C only (4) A, BandC only

23T H0TISY (DEFDEDHE H020H0D) 18OB WS DR 2 ?

B0E HOTISY (DETDED 1951 &° (B0 0T .

B. R05¢3 D058 (HDETDE 208 ONOEYSH S (DT D,

C. 307865 DOISY (DEFDE (B025065° AVRODN OF 8D FE0TII0SS P8P DHOOA.
D. 1965 — 1969 57¢rJ8 o708 (DT PEDOR @s0en NS0 2OR0H.

>

OB QAT DOTDE W :
(1) A OO B S5(ehad (2) A, C08A50 D S35°(ehadd
(3) B X0805m C &e(ehadd (4) A, BX08a C Xr|ehad

Which of the following statements is/are true in relation to five year plans in India ?

A. For the period 1978-82, Rolling Plan was implemented.

B. The final draft of Fifth Five Year Plan was prepared by Prof. K.N. Raj.

Choose the correct answer :

(1) A only (2) B only (3) Both A and B (4) Neither A nor B
2PSESTIOS” HOTINEG (DT DEDE HODOBOD (8O FOS DE/ 2y ?

A, 1978-82 5778 QB0BE (DETDED €960 HBTIE0 238008,

B. 85 D058 (HETDE By @03 (D6 (final draft) Q (. B.0S. T°e5 5055 T33°CH.

OB QAP DOTHE W :

(1) A S (2) B Xr$d (3) A8 BBOL”  (4) A BCSH B BOLY 5°)

Which of the following statements are true in relation to NITI Aayog ?

A. It was set up in 2015.

B. Prime Minister of India acts as the Chairman of NITI Aayog.

C. It serves as a think tank of the government.

D. NITI Aayog aims to foster co-operative socialism among the states.
Choose the correct answer :

(1) B and C only (2) Cand D only

(3) A and D only (4) A, Band C only

D& 3T3rAZL H0D0E0D [§0A 5O D 2.0 ?

A B 2015 S Qo YeN B,

B. 27°3¢b D5 008 &3 e8TZrNE0 TEIST 553578 K.

C. (020650 TZNEY AYENES D630 (think tank) T &3 e3TZN HDATDROA.
D. Tar® 0G5 OT5E araddserrd) ROF0H0TIEI0 O esO3rh TBnEy SPI0.
OB QAT DOTHE 0 :

(1) B 0805» C Sr(ehad (2) C HOAW D Sr(ehad
(3) A SHBASW D X(ehad (4) A, B8O C Xr|ehad



45.

46.

47.
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Match the following pillars of NITI Aayog with their relation :

Pillar name Relation
A. Pro-people I. Involvement of Citizenry
B. Transparency II. Women in all aspects
C. Equality ITI. Opportunity for the youth
D. Participation IV. Fulfilling societal and individual aspirations

V. Responsive government
Choose the correct answer :
(1) A-III; B-V; C-I; D-IV
(2) A-II; B-III; C-V; D-I
(3) A-IV; B-V; C-III; D-I
(4) A-I, B-IV; C-III; D-II
B0 S es33rh Nozre (pillars) & @9 BIE HODOAODSS, ¢3S 2366 HBTSW :

Do2so DD DO0B0
A DB0-005r® I OO M IASTIINVI(o)
B. JSSSES IL Q) ®oTOS oreen
C. Qdrded 50 III. 805550 @55°30
D. IS0 IV.  ra5288 OO JIAHEE es5708 e JBIE)E0
V. D830)080T (H20eb S0
AB N DAFPETTV), D0TDE RN :

(1) A-IIT; B-V; C-I; D-IV

(2) A-II; B-III; C-V; D-1

(3) A-IV; B-V; C-III; DI

(4) A-I, B-1v; C-III; D-II

Arrange the following deficits as % of GDP related to Union Budget 2022—23 (Budget estimates) in
descending order :

A. Revenue deficit B. Primary deficit

C. Fiscal deficit D. Effective revenue deficit
Choose the correct answer :

(1) C,D,B,A (2) A,C,D,B

3) C,A,B,D 4) B,A,C,D

2022-23 3 e0iren) 30(& DBFE oNTOR HoD0HOD) e BRTred )RS 180 St (deficits)
FEQ) ITeTET (E00S €953 a3 :

A BISTs Sen B. [ Stw

C. (8958 S'ew (fiscal deficit) D. 0% BIdrs Sew
OB QAT DOTHE 0 :

1 C,D,B,A 2 ACD,B

(3) C,A,B,D 4) B,A,C,D

Which of the following is not a priority of 2023—-24 Union Budget ?

(1) Inclusive development (2) Green growth

(3) Infrastructure and investment (4) Export promotion
1808 ¢3S° D& 2023-24 B 2FE TWNEY, (S5O0 57 ?

(1) JAPS 90DNNE (2) 58 H&

(3) TTOE 53800 DB Y2 (4) DO (Y70
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49.
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Which of the following statements are mot true in relation to Fiscal Responsibility and Budget
Management (FRBM) Act ?

A. The Act became effective from 5 July, 2004.

B. This Act was notified by the government in 2002.

C. This Act stipulated the elimination of revenue deficit by 2014.

D. As per this Act, with the beginning of financial year 2006—07, the annual reduction in fiscal
deficit must be at least 0-5%.

Choose the answer :

(1) A,B,Cand D (2) BandD only

(3) A and C only (4) B, Cand D only

8% 23°¢95¢5 208050 2FE AE 5576 (FRBM) I8 H0200500) (808 & SO D) 2 5% ?

&S 250 23S 5, 2004 HOG €90 (effective) '8 HDYOA.

S8 T9ETQ) 2Geh (920¢5 £0 2002 ¢ 1HBE30V0A (notified).

2014 3380 BISTs S BROT Sr@ToO &8 50 BI0IE0 88A0E.

& B0 1D5°80, 2006-07 08 HONSIB0 (BFB020N0B, (958 e (fiscal deficit) ¢ a0F ihHcse>

SDIOO™ D0 0:5% 1 owwd.

QAP DOTNT W

(1) A, B, C 8350 D (2) B HOAN D Sr(ehad

(3) A X0B3W C (v (4) B, C 0805 D S

Sawe»>

Which of the following statements are true in relation to 15*" Finance Commission ?

A. For horizontal devolution, income distance criterion was given more than 40% weightage.

B. For horizontal devolution, tax and fiscal efforts were given less than 3% weightage.

C. C. Rangarajan was the Chairman of this Commission.

D. The recommendations of this Commission are applicable from 2022 to 2028.

Choose the correct answer :

(1) A, Cand D only (2) A and B only

(3) B, C and D only 4) A,B,CandD

15 & €305 50378 H020EH0D (0B TS D 2y ?

A, DSITFOSE D), HONEIE HODOBOD), SO SrB0 (DSTedE (income distance criterion) 40% S0
DBV (PGS0 (weightage) @ $€00 238808.

B. JXF0SE D) D0DEFE Ho0H0D), D) HOSW §F (DovE) 8 3% Z0T $H0S S0
'&3556:30 28008.

C. . Jo8Tras & e308 SO0 TNEY BB o) K.

D. &8 e0% 0500 AEY DarS0en 2022 N0 2028 528 SO ow.

OB QATPFR), DOTHE W :
(1) A, C 8w D Xr(ehadd (2) A B B Sr(ebad
(8) B, C s0B0» D Xr(ehadd (4) A, B, C 0805 D

Arrange the following taxes in ascending order based on own tax revenue composition of India
General States Average (2018-21 average) :

A. State goods and services tax (SGST) B. State excise

C. Sales tax D. Motor vehicle tax

Choose the correct answer :

(1) C,D,B, A (2) A,BC,D (3 D,B,C,A 4) D,A B, C

2BHTIE B Taled DD D50 D) T (2018-21 Hisew) & & 180G DY °ex (composition)
SESOM (0B N0 eTET (X006 €958 o :

A TR S VIO D) (SGST) B. O 38)5

C. @080 d) D. JrErd Sfarare) Oa)),

OB QAP DOTNE W :

(1) C,D,B,A 2 AB,CD 3) D,B,CA 4 D,AB,C
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Based on per capita district domestic product (at constant 2004-05 prices) for the year 2012-13,

which of the following districts in Telangana was identified as one of the poorest districts ?

(1) Karimnagar (2) Medak (3) Nizamabad (4) Rangareddy

2012-13 H0XSITE HODOBOD (2004-05 VS SASES) SO 2B TITres)B SETEOMT BT

BO& BEFOES & 8P 983 S B’ 2,8e3m H00tHer0 88RO ?

(1) 380%B (2) 0SS 3)  derdrerd (4) o3&

The Human Development Index (HDI) value and rank of Telangana among the states in India in

2011-12 were respectively :

(1) 062 and 3 (2) 0-51and 10 (3) 045 and 13 (4) 056 and 11

2011-12 & 2rESTIOSD T AFOS” S0re BNE) S @SHR SRS (HDI) Densd 0805w w508

SBS™

(1) 0:62 8 3 (2) 051083010 (3) 0-45 HBASW 13 (4) 056 HBAW 11

On the recommendation of which of the following was the Linguistic Provinces Commission (known

as ‘Dar Commission’) appointed ?

(1) States Reorganisation Committee

(2) Both Houses of the Parliament

(3) Drafting Committee of the Constituent Assembly

(4) Standing Committee of the Parliament

180& e3S° B DR © SEFSEOT, 27l (DO0E EWAS (38 ZMAS @ ©90er) & OHANOTIE0

20600d ?

(1) T OB S530ESe Eed

(2) FE0ENS Bokd Hasen

(3) T°e5005 HOXS (Constituent Assembly) St EQ0¢s

(4) FEoew Fo&oh ed

Which of the following statements is/are true in relation to per capita income of Telangana ?

A. The per capita income of Telangana at current prices has shown an increasing trend during the
period 2004-05 to 2013-14.

B. The per capita income of Telangana at constant prices (2004—05 prices) in 2013—-14 was more
than fifty-five thousand rupees.

Choose the correct answer :

(1) A only (2) B only (3) Both A and B (4) Neither A nor B

BOOTE) SOOI SrASTIE H00H0D (808 & sWIOES DE/QD 28 ?

A. 2004-05 0G 2013-14 NGBS OO (DYWS SBOS BOOTPE) SO eroH0 DOF FSe3
SAAHZNO.

B. 2013-14 ¢§° 800 $OI8 SaH0 VS GBS (2004-05 5SS’ A5XE 0 IO Eraraher o'

DBV GOO.
OB QAP DOTHE W :
(1) A7 (2) B SIr&D (3) ABASHBTOr (4) A HBAN B BOLy 5%

Which of the following statements is/are true in relation to Telangana economy ?

A. For the year 2013-14, the growth rate of gross state domestic product (GSDP) at constant
(2004-05) prices was around 5:55% (provisional estimates).

B. For the year 2013-14 (provisional estimates), services sector registered more than 7% growth

rate.
Choose the correct answer :
(1) A only (2) Bonly (3) Both Aand B (4) Neither A nor B

B0 308 $539080 H020E0D (0B WO IE/D 205 ?

A. 2013-14 H0SSITVE P, VE BB’ (2004-05) P> TR B2A3rS5)S (GSDP) 98 Bewd 0330
5:55% (@& 08 90NdTPen) M GO&.

B. 2013-14 5053¢5)0°08 ), (@&, 0¥ @0dTren) W S0K0 7% 0T 802 HS9& BN S
BR0A.

OB QAP DOTHET W :

1) A SreD (2) BT (3) ADBASHBTOG> (4) A NBAN B BOLy 5%
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Which of the following statements are true in relation to the structural composition of gross state
domestic product (GSDP) (at constant prices) of Telangana prior to its formation as Telangana
state ?

A. In the year 2000-01, the share of agriculture sector was less than 20 percent of GSDP.

B. In the year 2008-09, the share of agriculture in GSDP was less than 15%.

C. In 2003-04, the share of industrial sector in GSDP was more than 25%.

D. During 2002-03 to 2009-10, the services sector share in GSDP was more than 50%.

Choose the correct answer :

(1) C and D only (2) B, Cand D only

(3) A and D only (4) A and C only

BOOME T RO ISB0TIETIE SN0, SO BNE) e T°l) BRAPSIB (VS S
QT e7e58 E7E0)B0 H022080D) 1808 WO D 2)) ?

2000-01 50531306, e T°(5) BRTIPS)IBES 55505 SOH0 ¢ 20 TS0 E0T) S50y ST GOA.
2008-09 5051306, e T°(5) BRTIPS)IBES S350 SOKH0 ¢ 15 F¢50 ST S50y S GO,
2003-04 H0XSIB306S, e T°( ) BRTITSIBES FOFWE S0K0 e 25 TS50 S0Td VY ST GOd.
2002-03 HO& 2009-10 S0, WP TR BIBrHIBS o> SOK0 TEF 50 F°H0 S0Td DEV I
&O&.

DB DTG R, DODE TOMW :

(1) C B D X(ehadd (2) B, C 08a%0 D S5°(¢hadd

(3) A DM D Xr(ehadd 4) A DBAW C (b

Which of the following statements are true in relation to marginal holdings in Telangana for the

year 2010-11?

A. In Adilabad district, marginal holdings accounted for around 50% of total holdings.

B. The proportion of marginal holdings in total holdings in Medak district was around 60%.

C. With respect to more than half of the districts (excluding Hyderabad), the marginal holdings
constituted more than 50% of total holdings.

D. For Telangana as a whole, marginal holdings accounted for more than 60% of total holdings.

Choose the correct answer :

(1) A, Cand D only (2) B and C only

(3) A and D only 4) A,B,CandD

2010-11 D035 IT°E T BLOMPELIS' Garoeh E0TOH H0D0S0D 180 TIPS D 23 ?

A, SOTrE B, BNBO ST Gal0h DTN ST 50% T &) ON.

B. 8 8PS, IS0 E0eeS Garodh E808e @950 SIS 60% M &O8.

C. D50 0B 80 BFOK HODOBOD (FFRTTE NISTFON0D) INB0 EHerereS earoch Ssderen

cCawy»

50% E0T 8021 Ca°) 0.
D. SO0 SVB0 DCS, DVB0 ENTOES Eralr0es E0ee) 60% 0T DE0Y ST Ea®) ON.
DB DIFETTR), DODE TOMW
(1) A, C 08050 D S5°(ehad (2) B OO C S
(3) A HBASW D X(ehad (4) A, B, C 0805 D

Arrange the following in ascending order based on the area under use as percentage of total
geographical area of Telangana in 2013-14 :

A. Forest land B. Land put to non-agricultural uses
C. Barren and uncultivable land D. Current fallow land

Choose the correct answer :

(1) A,B,C,D 2 C,A B,D (3) B,A,D,C 4) C,B,D,A

2013-14 & S0omre TE) SNB0 ITHOE IVT0S’ 1808 T3 &ITNO 1808 &) IO FS0
S B0 eSEPET (006 €958 ) :

A QD e B. X5SraHesS cedd3rmred (808 &) 25D
C. 2502385 SOOI H§ST0H TIPHO A 5 D, (2905 8 257

DB DIFETTR), DODE TOWW

1) AB,C,D (2) C,A,B,D 3) B,A,D,C 4) C,B,D,A
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Match the following classes of land with the extent of standard holding in Telangana as per
Telangana Land Reforms (Ceiling on Agricultural Holdings) Act, 1973 :

Class of Land (Per Annum) Extent of Standard Holding (In Acres)

A. Double crop wet land (Class-A) I. 20

B. Wet land other than double crop (Class-C) II. 40

C. Wet land other than double crop (Class-H) III. 10

D. Double crop wet land (Class-D) Iv. 15

Choose the correct answer :

(1) A-I, B-1V; C-II; D-III (2) A-III;, B-I; C-II; D-IV

(3) A-III; B-II; C-I; D-IV (4) A-II; B-I; C-1V; D-III

SO 2557005 (égéa"oﬁo e 30 JOWB) IO, 1973 (HSB0 S0 Bod e
SBHEB rIre3E Eodoed0o 3&@0@5 250G :

209D SENB (D055)0°DS) (ToIPEFE 5650 DDFO (DTS
A, BOK DO HOT 8 T ($Bed-A) I. 20
B. B0 DOLIEN HOT 55 5O 25 ($3K5e3-C)  II. 40
C. B0 oI HOT 2SR 5 257 (€5Stied-H)  IIL 10
D.

BO NOLIEN DOT O 2577 (¢5B5e3-D) IV. 15
QBN DIPERR), DOTDE R0 :
(1) A-I; B-IV; C-II; D-III (2) A-II; B-I; C-II; D-IV
(3) A-III; B-II; C-I; D-IV (4) A-II; B-I; C-IV; D-III

Consider the following Assertion (A) and Reason (R) :

Assertion (A) : Vasishta Bhargava Committee was appointed to look into the spending of surplus
funds in accordance with the agreements between the representatives of Andhra and
Telangana regions.

Reason (R): Kumar Lalit Committee was appointed to assess the Telangana surplus funds.
Choose the correct answer :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).

(3) (A) is true, but (R) is false.

(4) (A) is false, but (R) is true.

1BO& B9ESE (A) SHBOW BTV (R) B00N0R

B)DESED (A) : 0| 0B BOOMTED (P05 (DB 0§ BOAS 2,)JOTTE (DFB0 KeN N
DA VL0 HOROOTIETIE $3Q 275 Ee3D DOHA0TIEI0 38R0,

G0 (R): S0 P AN 90 SONEFE 0558 OGS E¢3 A0HW0HE0 28708.
DB DSFETTR), DODE TOMW

(1) (A) DB (R) BOLY 2,8))) sNBAW (A) B0 (R) SO D3B¢€3.

(2) (A) B3 (R) BOKY 2,8, SR (A) B0 (R) S8 Dadded 5°¢0.

(3) (A) 2, 5 (R) ¢5).

4) (A) &), 5°Q (R) 2,0)).

As per Census 2011, in which of the following districts in Telangana was the population sex ratio
more in rural areas than in urban areas ?

(1) Khammam (2) Nalgonda (3) Adilabad (4) Mahabubabad

2011 BT BEL0 (D560, BOOrHS (808 & BT 2arer Aod AV)B DL (roeee §0T (T
roeee>eS D0y S GO ?

(1) 200 2 S50 (3) esdHerrd (4)  DIradrererd
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As per National Family Health Survey—5, the percentage of women (between the age 15 — 49 years)
who were literate in 2019-20 in Telangana was around :

(1) Three-fourth (2) Two-third (3) Three-fifth (4) Four-fifth

205 S0 &g DB -5 (D5B0, 2019-20 S BOMEIS sHEFFE (15 — 49 HD0SH T 0SS SO
EODAITE) @F TOE® F°50 QI :

(1) 8/4 S S0 (2)  2/3 5 S0 (3)  3/5 5 S0 (4)  4/5 S S0k

As per National Family Health Survey—5, the Under-Five Mortality Rate (USMR) in urban areas in
Telangana was :

(1) Nearly one-fourth

(2) Less than one-fifth

(3) More than the infant mortality rate (IMR) of rural areas

(4) More than the infant mortality rate (IMR) of Telangana state as a whole

2PAA%H H0en0 88N IBS-5 (DFB0, BOOTRS' HW [FrozosS ¢ HosSyore (USMR) 08
$502,65 50NN TS BT BEX :

(1) Q™ 1/4 &5 S0

(2) 1/5 & 5068 0T 88038

(3) ([Pane (roere S’ 2% ST Ben (IMR) $0T 8038

(4) BOOMTED TR0 JNBO a1 D SeTre> Bew (IMR) 0T DBy

Which of the following statements is/are true in relation to the population of Telangana state as per
the National Family Health Survey—4 ?

A. Population above 15 years of age was around two-third of the total population of Telangana
state.

B. Population below 15 years of age was nearly one-fourth of the total population of Telangana
state.

Choose the correct answer :

(1) A only (2) B only (3) Both A and B (4) Neither A nor B

2S00 H0e02) &8s DB -4 (DS0, BOOMTE TR BI°2FE D0DO0A0D (B0 5O B/ 2y ?

A. B0 T°lR) INB0 2335727 15 D055 IT° 0T 8069 5000 EORS B 2> 0SS 2/3 &5 S0
Gom) &0.

B. 800 O3 300 3372 15 0051070 0T 580265 9000 EORS 23772y 033 1/4 &5 S0
Gom) &0.

OB DT, DOVE TDANXW

(1) A7 (2) B3 (3) ABASHBTOr (4) A HBAN B BOLy 5%

Which of the following statements is/are true in relation to the population of Telangana state ?

A. As per the Telangana State Statistical Abstract—2022, the population of Telangana in the year
2031 would be more than five crores.

B. As per the population census 2011, during 2001-2011, the absolute increase in Telangana state’s
population was less than fifty lakhs.

Choose the correct answer :

(1) A only (2) Bonly (3) BothAandB (4) Neither A nor B

BOOME T°Q) 220 HO0D0H0D (80O T DS’ DA/ 2:0)) ?

A. 80P O3 aF3NES @5 J°5-2022 (D550, 2031 & H0SSI 306 Berorres TINEy Brer 060 §&
BOT) DBVYIT GOLNOR.

B. 2011 a3 S51 (05°80, 2001-2011 OO, OO Ol 233%r A0S, NS Argm oo
0T LI SO,

OB QAP DOTHET W :
1) A SreD (2) BT (3) ADBASHBTOG> (4) A NBAN B BOLy 5%
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Which of the following statements are true in relation to the age structure of the total population of
Telangana (as per the Telangana State Statistical Abstract — 2022) ?

A. The population in the age group of 10 — 14 years was around 28-3 lakhs in the year 2021.

B. The population in the age group of 20 — 24 years in the year 2026 would be around 25-4 lakhs.

C. The population in the age group of 40 — 44 years in the year 2031 would be around 32-61 lakhs.
D. The population in the age group of 55 — 59 years in the year 2036 would be 27-8 lakhs.

Choose the correct answer :

(1) C and D only (2) A, BandC only

(3) B and D only (4) A and C only

BOOME TR 0SB0 B2 TINEY SANNY ErB1IE H00HOD [E0B WO DY 20)) (BeOorred
Ol eS3NES @5 S — 2022 |H5°B0) ?

A. 2021 505 IS0’ 10 — 14 HOSSIT™ SO0 EOBS 2373787 0AFED 283 ©F 0T SGO&.

B. 2026 HOXSIE0S” 20 — 24 H0S55IT O SO EOAD 237727 STS 25-4 ©F OO GOV,

C. 2031 50S55IB0ES 40 — 44 DO YT HONN) EOAS B2 32-61 ©F.ENMT SOENOE.

D. 2036 5053506 55 — 59 H50d5 Y107 500:0.) EOBS 23372 27-8 OFENT EOENOE.

DB DITETTR), DODE TOMW :

(1) C HB» D X(ehadd (2) A, B X08a C X(ehad

(3) B 0805 D S°(ehadd (4) A SO C ST

Which of the following statements are true in relation to the male and female population of

Telangana (as per the Telangana State Statistical Abstract — 2022) ?

A. In the year 2016, the male population in the age group of 30 — 34 years was less than the female
population in the age group of 30 — 34 years.

B. In the year 2021, the male population in the age group of 80+ years was less than the female
population in the age group of 80+ years.

C. In the year 2031, the female population in the age group of 65 — 69 years would be more than the
male population in the age group of 65 — 69 years.

D. By the year 2036, the sex ratio of children (0 — 4 years) would be favourable.

Choose the correct answer :

(1) B and D only (2) A, Band C only

(3) A, Cand D only (4) Aand C only

BOOMTE TR D DO DFPF® 23°2rEd D020H0D (08 WO DD ) (BOOTred TR

FE3NES @5 S - 2022 (H5°S0) ?

A. 2016 HOSHISOC, 30 — 34 H0OSHIT°E SODNIHE BV B™2F, 30 — 34 DOXSIT' SADRN YN
SarFed 237 0T HE0)IT GO,

B. 2021 HOXSIE0S, 80 HONSITO 0T DBV SO0 HBNO Barer, 80 D05 T S0
80265 SO0 YK arFed 237 FOT V)T GO,

C. 2031 HOSSIB0ES, 65 — 69 D0HBIT® SONKNVIND DFT BT, 65 — 69 D0SHIT°E SN YN
DB 2372 0TI DHVLIMT GOLNOA.

D. 2036 &3 HD0XH)IE0 2°¢38, (0 — 4 D035 YT7) DD Ao AN NETOOMT GOENOA.

DB DSFETT ), DODE TOMW

(1) B X805 D S57(¢5a (2) A, B8O C Sr(edad

(3) A, C SHBASW D Sr(ehad (4) A SO C S

Arrange the following decades in ascending order based on decadal growth rate (%) of population of
Telangana :

A. 2001 -2011 B. 1991 -2001 C. 1981-1991 D. 1971 -1981
Choose the correct answer :

(1) C,B,D,A (2) B,A,C,D 3) AB,D,C (4) ACB,D
BOOMED B2 ABNEY 33° 9O BEX (%) SISO (80E 7P STFTeT (5006 @050 :
A. 2001 -2011 B. 1991 -2001 C. 1981-1991 D. 1971-1981
DB DTG, DODE TOMW

(1) C,B,D,A (2) B,AC,D (3) ABD,C 4) AC,B,D
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Match the following health indicators with the value of each indicator in 2019-20 in relation to
Telangana (as per Healthy States, Progressive India, Report on the Ranks of States and Union
Territories, Health Index Round-IV, 2019-20, prepared by the NITI Aayog) :

Indicator Indicator Value
A. Neonatal Mortality Rate (NMR) I. 963
B. Under-Five Mortality Rate (U5SMR) II. 630
C. Maternal Mortality Rate (MMR) III. 474
D. Institutional deliveries (%) IV. 30-0
V. 190
Choose the correct answer :
(1) A-I; B-IV; C-II; D-III (2) A-V; B-1V; C-II; D-1
(3) A-IV; B-III; C-V; D-I (4) A-V; B-III; C-I; D-II

SOOI H0D0H0D 80 &y APDEOXD, 2019-20 & 1D DS DeNSS BSIGTHXN (D& esT3rh
BSOS BIS SFHINOSS T aFen - ITTYD 2738, T°aren HOAN 3o FOS (rowmrerdd
H0DO0AONS T°50H50 NS AIOE, es&s S T°0& - IV, 2019-20 (H5°S0) :

Ar)S AP DS Devad

A 3%eeeh 3% dered Bew (NMR) I. 963

B. 20 D0&e0°e 50080 E0T 650385 9000 e Béw (USBMR)  IL 63-0

C. D deare> Bexn (MMR) III. 474

D. Solied (DI (%) IV. 30-0
V. 19-0

DB DXFPETTRY, DOVE AWM :

(1) A-I; B-1V; C-II; D-III (2) A-V; B-1V; C-II; D-I

(3) A-IV; B-III; C-V; D-1 (4) A-V; B-III; C-I; D-II

Consider the following Assertion (A) and Reason (R) in relation to Telangana’s Overall

Performance — Composite Index Score (as per Healthy States, Progressive India, Health Index

Round-IV, 2019-20, prepared by the NITI Aayog ) :

Assertion (A) : By 2019-20, Telangana had improved its rank among larger states in relation to
overall performance Composite Index Score compared with its overall performance
Composite Index Score in 2018-19.

Reason (R): In 2019-20, the overall performance Composite Index Score of Telangana was
around 70.

Choose the correct answer :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).

(3) (A)is true, but (R) is false.

(4) (A) is false, but (R) is true.

BOMTE) T RO BB HQ D - AFeD APDE DeNdBO HOOBODS (BOE BVEBE (A) BN SEET),

(R) 3P0t (D3 eT3rH ErroRoNS, e8K5508T0S T°aren, HBTYD s, bty Srd 3°o& - 1V,

2019-20 |05°G0) :

S)DSS (A) : 2019-20 T°¢38, BOOTPED 2018-19 & T°Q BNHO DABK W(Fe AFD FES FO YY)k
INB0  DIBBH  MFD ArD FOH  HDo00H0D DG TEroS’ S TrsoEd
I e MoV ST MW ol

5060 (R):  2019-20 ¢ S0 U710 B0 DB [Fs3 A3 Ve ey 70.

DB DSFETTR), DODE TOMW

(1) (A) B3 (R) BOKY 2,56))) sBAW (A) 30 (R) SO D3G€9.

(2) (A) HBAW (R) BOKY 2u5), 5 (A) 50 (R) SO D38 5°¢0.

3) (A) 2, 5 (R) ).

4) (A) ), 52 (R) 2.3)).
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Which of the following statements is/are correct with regard to the Rythu Bima scheme that was

introduced in 2018 by the Telangana Government ?

A. The age group of farmers eligible to enrol under the scheme is 21 years and above.

B. The insured amount is ¥ 5 lakhs.

C. The scheme is applicable to the farmers who have up to 10 acres of agricultural land.

Choose the correct answer :

(1) A, Band C (2) A and C only

(3) Bonly (4) A and B only

2018 &° BOOMPED (25065 50 (953323 Behd ST HATRE HOROEOD (B0 F5OS DB/ 28y ?

A 88 DPHE0 (B80S SITEN 523¢37A8 €9868, 530N HONNY 21 D0IehHTeN O @0 0T
DDA &oEd.

B. D3 3wbo T 5 eSew.

C. 10 DET°® SBE S5O BT EON &) S5IPANTAOE &8 HHE0 SBRN0A.

DB DIFETTR), DODE T3OMW
(1) A, BSH8s» C (2) A DO C ST
(8) B (v (4) A SO B S

In which of the following Telangana districts was the Crop Diversification Index Value more in
2021-22 (as per Telangana Socio Economic Outlook — 2023) ?

(1) Vikarabad (2) Wanaparthy (3) Peddapalli (4) Suryapet

& 1808 B0 2o, 2021-22 S Q BUS D06 BAGL0 D) NS DEVL ST GOd (BOOMTE
Pdr2E @388 DA H0 — 2023 |DFE0) ?

1) dseorerd 2) S3H6 (3) DRI (4)  Jro°sE

In which of the following districts was the total area cultivated under paddy crop in Telangana in
2021-22 the highest ?

(1) Yadadri Bhuvanagiri (2) Suryapet

(3) Nizamabad (4) Karimnagar

& 1808 RBredS, 2021-22 S BomnS’ $6 Hoe 80 &) IS0 Fh INGo D BerS’ whior
OO ?

(1) O 203308 2) JIroeged

(3) derdrerd 4) %8045

Which of the following statements is/are true in relation to the agriculture and allied sectors in

Telangana (Telangana Economy, Government of Telangana, Provisional Estimates 2023) ?

A. Between 2021-22 and 2022-23, the agriculture and allied sectors achieved more than fifteen
percent year-on-year growth rate in their gross state value added (at current prices).

B. The gross state value added (at current prices) growth rate of agriculture and allied sectors was
around 18% in 2021-22.

Choose the correct answer :

(1) A only (2) Bonly (3) Both Aand B (4) Neither A nor B

BOOMRES X0 NOASN €9V Soredd H0D0B0D (0B 5SS DA/ 2.0)) (Beorres
DI, BOOMTE 2065 50, &) DE 0dT ew, 2023 (HSS0) ?

A, 2021-22 D00 2022-23 NS, 35900 BN 90008 Sormren 2,878y D05 )TE, red Tl
e AN (DNS BSOS HETP F°H0 E0T DB SYB FEOTOW.

B. 2021-22 & S535r0% OO0 €900 SOTPed e T8 Densd SNA0R) (NS F3eS) 590 Ben
Q3B 18% v €08,

OB QAP DOTNET W :
1) A Sredadd (2) B3¢ (3) ADNOASHBTOKr (4) A0S0 B BOGY 5%
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Which of the following statements is/are true in relation to Rythu Bandhu scheme in Telangana ?
A. Rythu Bandhu (Investment Support) scheme was launched in the year 2019.
B. Under this scheme, initially an amount of ¥ 12,000 per acre, per year was given to owners of

lands.
Choose the correct answer :
(1) A only (2) B only (3) Both A and B (4) Neither A nor B

SO0 Behd 206 JGHSAE H0D0BOD 180 FSWOS” DA/ 2.8 ?

A. B 20060 (DDA 00e80) HHE0 2019 D055 )30 |FE0D0IDEOE.

B. & 580 (80, (150235065 5y ONBSTOOK (DS DETE, (DB DoSSIB30 T 12,000 RS 50
28808.

OB QAP DOTHE W :

1) A ISP (2) B Ir&D (3) ADBASHBTOG: (4) A NBA B BOLy 5%

As per the All India Report on Agricultural Census 2015-16, which of the following statements are
true in relation to irrigated area in 2015-16 in Telangana ?

A. The gross irrigated area was around 19-59 lakh hectares.

B. The gross unirrigated area was more than the gross irrigated area.

C. The net irrigated area was more than 75% of the gross irrigated area.

D. The net irrigated area was more than the gross unirrigated area.

Choose the correct answer :

(1) B, C and D only (2) A, BandC only

(3) B and D only (4) A, CandD only

2015-16 S5 0H BEFOR DODOKONS S ROAATT JRAE |50, 2015-16 S Se>0rresS
ATV, H0200H0D (808 FDOS’ DD 2.5 ?

A e i DVGO XPS 19-59 ©F 0 IPFHENT G0b.

B. oo FHeS B DRG0, e i VG0 E0T 80 ST &od.

C. Q&S % IO, re> FthH RGOS’ 75% E0T> D80} ST &0B.

D. Q&S NGO, &rerorr S B IAG0 E0T JE0y S &0d.

DB DIFETTR), DODE T :
(1) B, C 805w D (v (2) A, BO8A C Sr(ehadd
(3) B 0O D S(ehadd (4) A, C 8350 D S(ebadd

Which of the following statements related to area under different crops as percentage of gross sown
area (in Vanakalam 2021-22) in Telangana (as per Telangana Socio Economic Outlook—2023) are
true ?

A. The area under paddy was more than 40%.

B. The area under cotton was more than 30%.

C. The area under maize was more than 8%.

D. The area under soyabean was less than 3%.

Choose the correct answer :

(1) A, Cand D only (2) Band C only

(3) A, B and D only 4) A,B,CandD

(SO0 FSrRs @08 SPD(H0 — 2023 (HSE0) BOMPRS (2021-22 FSOOS) QPO JSTen
T35 DGO DS HOEIed 180 &) NGO T HODOAOD (80 WO’ DD 2. ?

A 58 D0 180 e55) NGO 40% 0T JE0y ST &0d.

B. H& H0e) 1808 &5S) NGO 30% 0T B0y ST &0d.

C. RWEE) HO (B0 &), NGO 8% L0 &S &GOS,

D. PO DELE DO (80 &d) DRG0 3% L0 803 5T 508

DB DIPTR), DODE O
(1) A, C 805w D X(ehadd (2) B OB C S(ebadd
(3) A, B 805w D X(ehadd (4) A,B,C X805 D
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Arrange the following years in ascending order based on the contribution of agriculture sector (as
percentage) to gross state value added (GSVA) of Telangana at current prices in each of the given
years, as per Telangana Socio Economic Outlook — 2023 :

A. 2019-20 (Second Revised Estimate) B. 2020-21 (First Revised Estimate)

C. 2021-22 (Provisional Estimate) D. 2022-23 (Provisional Advance Estimate)
Choose the correct answer :

(1) B,C,D, A 2 ADC,B 3) AC,B,D 4) A'BC,D

BOOMe 3rE 308 S0 D50 — 2023 (PSSO, 18O D05 YT (DN GBS’ B0 Qe T°( 5
DENS N0 (GSVA) &° 55570 B060 e (Fe506S") e3crBomr (08 D05 IT O ST ($006S
OINVOVRINWE

A. 201920 (BOC8d 0B0NS @©0TdT°) B.  2020-21 (3025¢3 838008 e90Ha°)

C. 2021-22 (") O @0d) D. 2022-23 (@@ O 00D ©0HdT)
DB DTG R, DODE TOMW :

(1) B,C,D, A (2 A,D,C,B 38) AC,B,D (4 AB,C,D

Which of the following pairs related to size class of land holdings (acres) and the percentage of each
size class of land holding in total land holdings in Telangana in 2015-16 (as per the data provided in
Telangana State Statistical Abstract — 2022), are correctly matched ?

A. Marginal holdings : Around 69%

B. Small holdings : Around 24%

C. Medium holdings : Around 7%

D. Large holdings : Less than 1%

Choose the correct pairs :

(1) A, B and C only (2) A, BandD only
(3) C and D only (4) BandD only

B0 TR JFEVES @S5 - 2022 S Ad0ES SToFo (H530) 2015-16 S SworeS

BrENTE SEHS (DETOS) DO DNBO EFEHTOS (D& 2rEDB0 HBHS T8 HODOOONS

BO& 25" D DO BS$TIONDET W ?

A, &0 EEren 1 S 69%

B. Q) Eveeen 1 Q0 24%

C. NQFBE0 Sdheren : I 7%

D. Y deEen : 1% 30T 5503

QOB 235O DOVE TDAVXW

(1) A, B H8AW C S°(ehadd (2) A, B O8O0 D &S5°(ehadd

(8) C B D S(ehadd (4) B X8O D Se(ebad

Consider the following Assertion (A) and Reason (R) (as per Telangana Socio Economic

Outlook — 2023) :

Assertion (A) : The total growth rate of gross state value added of agriculture sector in Telangana
(at current prices) in 2022-23 (provisional advance estimate) was 16 percent.

Reason (R):  The total growth rate of gross state value added of agriculture sector in Telangana
(at current prices) in 2021-22 (provisional estimate) was more than 9 percent.

Choose the correct answer :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).

(3) (A) is true, but (R) is false.

(4) (A) is false, but (R) is true.

(B0 23 €308 NP0 — 2023 (H5°E0), (8O HeNEBED (A) HBAM T (R) DOBEF0T0EM :

S)D5Ce0(A): 2022-23 (&) OF SNODY 0T S BOOMTEES 555700 S0K0 Ty Wre> T
DeNS Q0N TINEY (DN BSOS DNBO 59O B 16 FSOMT GOO.

5320 (R) : 2021-22 &S (&) OF ©0I) BOOMPE 95O S0H0 TNE), WP TR e D0
TB0Ey (DN BSS3S’) BRSO S9@ Béw 9 F°¢50 F0T DBV SO,

OB QAP DOTHE 0 :

(1) (A) DO (R) DO 2,00 DB (A) 30 (R) SBTD DedBea.

(2) (A) HBAW (R) BOKY 2u0)), 5 (A) 50 (R) SO D38 5°¢0.

(3) (A) 25, 5 (R) ).

4) (A) &), 5 (R) 20).
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Arrange the following subsectors of service sector in ascending order on the basis of their
contribution (%) to gross state value added (GSVA) in 2022—-23 (provisional estimates) in Telangana
as per Telangana Economy, Provisional Estimates, 2023 of Government of Telangana :

Financial services
Public administration
Real estate, ownership of dwelling and professional services

Trade, repairs, hotels and restaurants

"o aw»>

Transport, storage, communication and services related to broadcasting
Choose the correct answer :
(1) C,D,E,A, B (2) B,AJE,D,C 3) B,C,A,D,E (4) D,ABE,C

BOOMTE (2065 55 BOOMPE) IS, T&) OF 0TI, 2023 (DGO, 2022-23 (e OF e0otdaren) &,
BOOMTE QPO TR DeNS NA0NES D S0K0 TE), GHDBOMTE FEFr (%) STFSOM 1§05 AN DES e
B060 TBNE) ISOTPO ST (50065 @38 Jodw :

A 608 e

B. [020e55 D8O

C. TR, AT G523 I50 OO SYBIBTS deD

D. 5830, 3080280, 1809 DB NS Foeren

E. 357, Qe S, 0550 08050 (DAPE D020 Radew

DB DSTETTR), DODE TOMIW :

(1) C,D,E,A,B (2) B,AE,D,C 3) B,C,A,D,E 4) D,A,BE,C

Which of the following are flagship projects of Telangana Industrial Infrastructure Corporation
(TGIIC) ?

A. Apparel Weaving Park at Sircilla B. Mega Food Park at Buggapadu
C. Sultanpur’s Medical Devices Park D. Industrial Park at Zaheerabad
Choose the correct answer :

(1) A and B only (2) CandD only

(3) A, B and D only 4) A,B,CandD

B0 e3¢5 D BOOTPE) TB(FWE F'OF S350 SEYBAS (TGIIC) TNE), DTS (FBEeD ?
A DBID S oen I3 0y B. 20000 S 0 D& ardy

C. 080 3¢5 H8ETe 6y, D. 2r0erd SO FOFNE 30y
QB DIPETTR), DODE O

(1) A DB B S35 (2) € BAN D S5°(hadd

(3) A, B 0O D Sr(ehad (4) A, B, C 0805 D

As per Telangana Socio Economic Outlook—2023, of the total number of persons working in
industrial sector in 2020-21 in Telangana, the manufacturing sector has provided employment to
around :

(1) 28% (2) 36% (3) 52% (4) 58%

B0 TSrRs @08 SPD($0-2023 (HSB0, BOOPRS 2020-21 S FBFWE S0K0SS HA TWSY
S0B0 S5O, SIS B0H0 KDSFEIT 0eh 50 HOAE &ard §O oD ?

(1) 28% (2) 36% (3) 52% (4) 58%
EHmE
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Which of the following statements is/are true in relation to the share (%) of secondary sector in gross
state value added (GSVA) of Telangana (as per Telangana Economy, Provisional Estimates — 2023,
Government of Telangana) ?

A. The share of secondary sector in GSVA of Telangana was less than 20% (at current prices) in
2022-23 (provisional estimates).

B. The share of secondary sector in GSVA of Telangana (at current prices) in 2021-22 (first revised
estimate) was less than its share in GSVA (at current prices) of Telangana in 2018-19.

Choose the correct answer :

(1) A only (2) B only (3) Both A and B (4) Neither A nor B

(B0rred 388 539, TEry OE 0N e — 2023, BLOOME (D206 S0 (DSB0) SO T 0 ABNE)

TR DENS (GSVA) A0S BIBOH B0K0 TBNEY FEF (%) & 00BN 1808 FWOS DA /DD

208 ?

A. 202223 & (&) OF ©OITTeN) BOOME TR0 BN WS TR e HQ0NS &30 Soko
FET 20% (DN SSS) E0T S80S OB,

B. 2021-22 & (033 HDHB0NS 0IT*EN) SO TR0 TINEL P> TR DN A0 (e
S3ES) & BB SOK0 e, 2018-19 ¢° BOMPED T8 TZNEY AP DeNsd A0 (NS SEOS)
S B 530D S0K0 e 0T SEYLIT &0d.

QBN DIPERR), DOTNE R0 :

(1) A Sr(edad (2) BT (3) ABASHBTOLr (4) A HBAN B BOLy 5%

Which of the following statements is/are true in relation to Information Technology / Information

Technology Enabled Services (IT/ITES) initiatives of Telangana Government ?

A. Through the growth in dispersion (GRID) policy, the government provides special incentives to
the companies that expand or set up their units within the western part of Hyderabad.

B. The Government of Telangana released its second Information and Communication Technology
(ICT) Policy in 2021 to provide various incentives to I'T/ITES industry.

Choose the correct answer :

(1) A only (2) B only (3) Both A and B (4) Neither Anor B

SO0 T°n (DAVH0 ANEY NIPTE 0SB / JIrerd JosSeEe esrrdeds VS (IT/ITES)

SEETFTOZ HD0DOBOD (B8O FSWEOS” AE/DD 200 ?

A S8 N9 (dispersion) DGrSO (GRID policy) @rsor, 30d0merd O3 (27080 Q00T S
NT®YEN T DOVOZ (D206 0 (DBE |5 e 90BN,

B. J3rmrd P0Seddes/0drird Aroseded e8¢ I DOFHH DAY | )Tsen 90oO0HErI
BOOMPE (20550 BOCHS DIPTTS sHOON FNTsABAS 0BRSS (ICT) ) 2021 S Jcocded
TR0,

AT NP Q). DOTDE0AW :

(1) A S (2) B Xr$d (3) A8 BBOL”  (4) A HBCSH B BOGY 5°)

Which of the following statements are true in relation to tourism circuits in Telangana ?

A. Bogatha Waterfalls are a part of tribal circuit.

B. Akka Mahadevi Caves are a part of heritage circuit.

C. Somasila Reservoir is a part of eco-tourism circuit.

D. Mallur is a part of green tourism circuit.

Choose the correct answer :

(1) A and D only (2) B, Cand D only

(3) A and C only 4) A,B,CandD

B0 HT°5eE (DBFOL (circuits) HOD0HONS (0B s D 2:0)) ?

A, SUe BOTED ABBS |DTIO (circuit) &S a8 a0.

B. @3} 05T Hsren 80 S (DTF0 (cireuit) ¢ 2.8 a0,

C. PNF BEPFONO HTIBE-DT°52% (HTF0S’ (cireuit) 2.8 2K0.

D. D 8 Ho5erd (DTFO (circuit) &S a8 2.

DB DIPTR), DODE O
(1) A B0 D S (2) B, C 08050 D S
(3) A 0BAW C Sr(ehad (4) A,B,C8a D
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Which of the following statements are true in relation to power sector in Telangana in 2021-22 (as
per Telangana Socio Economic Outlook — 2023) ?

A. The installed capacity of power in Telangana was around eighteen thousand megawatt (MW).

B. In the total installed capacity of power, the thermal energy share was more than 50%.

C. The nuclear energy installed capacity accounts for about 1% of total installed capacity of power.
D. The per capita availability of power was more than three thousand kilowatt hours (kWh).

Choose the correct answer :

(1) A and D only (2) A, Band C only

(3) B, C and D only 4) A,B,CandD

2021-22 50353065 BOOME DS S0P HODOBOD) (80O TFIWIOS DN 23 (BLOTTED ST
308 S0PA(H0 — 2023 (DSG0) ?

A. B0 A0S T N0 XTEMT DBIDE FO DDPE ™ (MW) 0.

B. [0S0 DS D5 P0L50S, HSS A ¢x 50% S0Td DE0yST SO,

C. J0B0 DS F°Deh FreNLS0ES, 9005 (nuclear energy) °aed NS0 TEF QSPSd 1% M &OE.
D. 08 DS ©255¢h surchd O 8’ Hoede> (kWh) E0T) DB &O&.

DB DTG R, DODE TOMW :
(1) A X805 D S35 (2) A, B8O C S3(eba
(3) B, C 0O D Sr(ehad (4) A, B,C X80 D

Arrange the following in chronological order based on year of launching/setting up of these
schemes/academies in Telangana :

A. Amma Vodi Scheme

B. Scheme for Adolescent Girls

C. Tholi Mettu / First Step Scheme

D. Telangana Academy for Skill and Knowledge (TASK)

Choose the correct answer :

(1) D, B, A, C (2) B,A,C,D (3) AD,C,B (4) B,D,A,C
B0 (808 HHS/S SN [FPS0250/DTIEN T D055 IB0 S0 e3Q S SSrdarSomT
293080 )W

A @02 28 DB

B. 558 33 &) erdie §350 Hdso

C. SO EP/INES e HHF0

D. S50 D8AW &S0 FBE S0mred @35°¢sa) (TASK)

OB DT, DOVE TANXW

(1) D,B,A,C (2) B,A,C,D (3) A,D,C,B (4) B,D,A,C

Arrange the following schemes implemented by the Telangana Government in chronological order as

per their launching months and years :

A. Dharani Portal

B. Telangana Fiber Grid

C. TS-bPASS

D. Mahatma Jyotiba Phule Telangana Backward Classes Welfare Residential Educational
Institutions Society

E. Women Entrepreneurs Hub

Choose the correct answer :

(1) B,D,E, C, A (2) D,E,A,C,B (3 D,B,EA,C (4) C,B,D,E, A
SO0 (DZNBT0 @Hen TIS (B0 IPTORD 8 (QPE0D0DS Jwew, D0JSIT°® (HSE0
5OEATOSOMT @08 08 :

A DB S

B. 8oorrs b K&

C. BIR-DI (TS-bPASS)

D. 0555 S5y S SO0 SNEDES S8 H0T.e0 BABIOCHS J°s HoP® Fed
E. 03¢ &0 S8

DB DTG, DODE TOMW :

(1) B,D,E,C, A (2) D,E,AC,B (3) D,B,E,A,C (4) C,B,D,E,A
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Which of the following is/are correct with regard to Telangana’s industry and service sectors in
2022-23 Provisional Estimates (as per Telangana Economy, Government of Telangana, Provisional
Estimates, 2023) ?

Assertion (A) : Industry and service sectors in Telangana together accounted for around 80% of
gross state value added (at current prices).

Reason (R):  Manufacturing (a sub-sector of industry) alone accounted for more than 10% of gross
state value added (at current prices) in Telangana.

Choose the correct answer :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A)is true, but (R) is false.

(4) (A) is false, but (R) is true.

(SO IS, BOOMTE (HENH S0, 2023 &e ), OF @O (IS0), 2022-23 e ,OF @odresS
SOOI HOFNE sHAAN W SOTFOZ HO0OO0D) 180 Fe3¢S° DE/AN 25y ?

(OIS (A): B0 Qe TR e HA0YE (W SBDOS’) 0SS 80% HOFed HBAN D
SO T°ST° SD)YOA.

550 (R): SO0 QPO TR e SDA0D) (N 33 & 10% S0T B0 2.8y S$asrd
B0650 (DBF0 TINEY EIB0K0) HOT SDHYOA.

OB DTGP0 ORI

(1) (A) 805 (R) BOSF 2,5 180 (A) &0 (R) HOTDS DSB89.
(2) (A) HBAW (R) DO 2,6))), S°Q (A) F0 (R) SO DIGed 5°¢0.
(3) (A) 202D, °Q (R) ).

4) (A) &), 5 (R) 20)).

As per Telangana Socio Economic Outlook—2023, Telangana’s own tax revenue as a percentage
(2018-21 average) of its gross state domestic product (GSDP) was :

(1) One-fourth of GSDP

(2) Less than one-tenth of GSDP

(3) More than one-third of GSDP

(4) One-fifth of GSDP

BOOME) Sr8s @08 S D\S0— 2023 (DE0, BOOMTED QP T B0 &5 )BS’ (GSDP) 5 Foch
D), T F°H0 (2018-21 Srfe) :

(1) Qre O3 BIOD s 1B 1/4 &5 S0

(2) e Tl TR0 €ed IS 1/10 &5 5065 S0T 55036
(3) o O BROH &5 )BS 1/3 5 506 S0 80
@) e oD TIOH &S5BS’ 1/5 & S0k

The total principal + interest burden (within budget) of Telangana state in 2014-15 was around (as
per Telangana State Finances — White Paper, Finance Department, Government of Telangana) :

(1) T 13 thousand crores (2) T 4 thousand crores
(3) T 7 thousand crores (4) T 10 thousand crores

2014-15 &’ BOOME TN INBO @IN + H& 230 @FE SHV) ) (BOOME TR JTFen — 356
D50, D D20, BOMed (D20 SO (DS°BO)

1) 713 Jo & (2) 7433 W
(3) =73 §ew 4) 710 Je §ew
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Which of the following statements is correct with regard to the Aasara Pension Scheme of Telangana
Government ?

(1) It was introduced in 2014 in Karimnagar district.

(2) With effect from July 2023, the amount was enhanced to ¥ 4,016 for disabled persons.
(3) The amount was enhanced in 2020-21 to T 2,516 for beedi workers.

(4) Toddy tappers were paid @ T 3,016 from 2020-21.

BOOMTE (D20 ¢ SO0 DS I8 H020HOD 180 e3¢5 DTS s VA ?

(1) 8355 $803565 BereS’ 201465 (FB0OTTED.

(2) 278 2023 NO0G DI VTR, DEEFOMNOR T 4,016 S0 DOTR.

(3) 2020-21 S° DS DT, D& 5650080 7 2,516 50 DOTTE.

(4) 2020-21 0 ENAS 52850080 T 3,016 57 TOOT .

Which of the following statements is/are true in relation to the composition of expenditure in
Telangana for 2024-25 as per the vote on account budget of Telangana for 202425 ?

A. The estimated revenue expenditure is more than two lakh crore rupees.

B. The estimated capital expenditure is less than thirty thousand crore rupees.

Choose the correct answer :

(1) A only (2) Bonly

(3) Both Aand B (4) Neither A nor B

2024-25 SO &4, &8 @F0E DBE (HB0, 2024-25 & H0DOBOD) VOO PEHIS ETSHE0
D0DOROE) 800 & sIOS” DB/ &y, ?

A, 0" JONVAS BRITS S55AN0 BOE OE© T Srarod® S0T) DEVS.

B. @0 JOHDAS S0, H50N0 020 I § ErraroHed E0Td 88054

OB QATPFRR), DOTHE W :
(1) A Sr(edad (2) B3
(3) A SNBSS B Bodky (4) A DB B DO 5°)

Which of the following statements is/are true in relation to Mahalakshmi scheme in Telangana ?
A. This scheme was launched by the Telangana Government in January 2024.
B. Women can travel in all state-run buses at free of cost.

Choose the correct answer :
(1) Aonly

(2) B only

(3) Both A and B

(4) Neither A nor B

BOOrRS IO 2 DAL H0D0S0D 0B T 5O DE/DN 28 ?
A, S DO BOOMED (925065 50 230958 2024 &° (FB0DODOA.

B. Q) 1925065 ¢ 2201065 S05r$en GSOMT [HOSPE0 TONSTR.).
OB QAP DOTNET W :

1) A S

(2) B Sr(edad

(3) A NBAW B Bocke

(4) A D830 B BO® 5%



96. Which of the following statements are true in relation to public expenditure in Telangana (2018—21
average) as per Telangana Socio Economic Outlook — 2023 ?

A. Development expenditure was 88% of total expenditure.

B. Non-development expenditure was around 22% of total expenditure.

C. Per capita development expenditure was less than thirty thousand crore rupees.

D. The revenue expenditure was more than 80% of total expenditure.

Choose the correct answer :

(1) B, C and D only (2) A and B only

(3) C and D only 4) A,B,CandD

BOOme T5red @l SNPDS0 - 2023 (HFS0, BOOMRS (DENSE HSOSTIE (2018-21  dEEN)
H0DOE0D 80E O’ A 2 ?

A, 0SB0 H55AHOS" 0DSYE SO0 88% T &OE.

B. 300 $550H06S° 0DX9THS S50D0 TP 22% 1T E08.

C. 008 @DNYQ SANO W) B T Srarode F0T) 50y ST GO,
D. 30B0 S50DOS” BBXETS 55000 80% 0T DB ST &OE.

DB DAFETTR), DODE TOMW
(1) B, C H80» D X5(ehadd (2) A B3N B S(¢bad
(8) C B0 D S (4) A,B,C 830D

97. Which of the following statements are not true in relation to tax to Gross State Domestic
Product (GSDP) ratio (% and 2018-21 average) in Telangana, as per Telangana Socio Economic
Outlook — 2023 ?

A. Sales tax revenue to GSDP ratio was more than 3%.

B. State excise revenue to GSDP ratio was less than 2%.

C. Motor vehicle tax revenue to GSDP ratio was more than 4%.

D. State goods and services tax (SGST) revenue to GSDP ratio was more than 6%.

Choose the answer :

(1) A, B and C only (2) BandD only

(3) A, Cand D only (4) B, Cand D only

BOOMe FIrRE @08 SNPD(H0 — 2023 (DS0, BOOMHS HDYZ HOAW Yo Tl TIToreh )&
(GSDP) D) (% 08050 2018-21 H5ew) & H00E0D (B0 TS DD 20 57¢H ?

A, ©50250) D) TrBE e T7 () DI )BE 5058 AN 3% S0T DS,

B. TR DB) TrBE ey o7 BITres )88 6055 Q) 2% S0TD 550y .

C. JrErdd aFTared D), TrB8 re) 7 5) 32055 )38 s3¢95 D) 4% S0TD JB0).

D. TR SN 30 D) TPBE e o7 Q) BITred )8 055 AN 6% S0T DBYS.

QXTI DOVE TAW
(1) A, B 83w C S(ehad (2) B OO D Sr(ehad
(3) A, C 835w D Sr(edad (4) B, C 0805 D S(ehad
98. Which of the following state taxes is not subsumed in goods and services tax (GST) ?
(1) State value added tax (2) Service tax
(3) Luxury tax (4) Taxes on advertisements
1808 TR DY OSTIR 3N VI DS’ (GST) EODIAHSCED (not subsumed) ?
(1) TR DeND A0 DY (2) D D)
(3) e (luxury) O (4)  (DELOSO D)

(r]: FKfaira Fipoina 32 Kepuira g O
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Match the following sectors/departments with proposed expenditure to these sectors/departments in
vote on account budget for the financial year 2024-25 of Telangana state (as per Telangana state
vote on account budget for the financial year 2024-25) :

Name of the Sector / Department Proposed Expenditure (in < crores)
A. Information technology I. 40,080
B. Industries II. 19,746
C. Agriculture III. 774

D. Panchayat raj and rural development IV. 2,543

Choose the correct answer :

(1) A-ITI; B-IV; C-I; D-II (2) A-IV; B-I; C-II; D-III

(3) A-III; B-1V; C-II; D-1 (4) A-I, B-II; C-III; D-IV

B0 SOrO/JeTTed S0 T°ld 46 o ©Fod 2TE 2024-25 ©05 HoS$ 508 &
SOTrPOE/DFTOE BIS (DBTOS S50NOS 23HHETHSN (2024-25 508 D055 T8 HODOAODS
SO0 T°(Q L8 &8 @80 2FE (D5°50) :

Sorso/derrio Db (3B SeaD0 (8§ crarabee)
A D3rTeS Jro8e3deh I. 40,080
B. d8$0en II. 19,746
C. N5 0ON0 III. 774
D. DOTANS 0725 OO ([PaDerdNgd IV, 2,543
OB N DTGV, D0TDE RN :
(1) A-III; B-IV; C-I; D-II (2) A-IV; B-I; C-II; D-III
(3) A-IIL; B-IV; C-II; DI (4) A-I; BIIL C-III; DIV

Consider the following Assertion (A) and Reason (R) :

Assertion (A) : Giri Vikasam scheme in Telangana is aimed at providing irrigation facilities to the
fallow and uncultivable agricultural lands of small and marginal scheduled tribe
farmers.

Reason (R):  Giri Poshana scheme in Telangana is aimed at addressing the needs of scheduled
tribe farmers for sustainable agricultural development.

Choose the correct answer :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A) is true, but (R) is false.

(4) (A) is false, but (R) is true.

1BOA B9NEEE (A) DOAN 587, (R) HOHEZ0TISW :

S)DESE (A) : BOOMEIS AGTLS BHOZ TOAS DY, HOAW GaFrOh S5IPONTEHS 28 SHAATW
FHE BP0 SR SISO BTN OZ FHAE3 FES0 EOI0TONE GTIONDIT A
NZI0 DREO.

5000 (R):  BOOMESS BTsS SHOE0 TOAS S5O Ee) oS S5 PN 08X 50T
BEYEFA, STFODIT A0 e HSHEO.

OB QAP DOTNET W :

(1) (A) DB (R) BOLY 258))) sBAW (A) B0 (R) SO D3B€3.
(2) (A) HBAW (R) BOKY 2u5), 5 (A) 50 (R) SO D38 5°¢0.
(3) (A) ), °Q (R) ).

4) (A) $) 50 (R) 250
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Which of the following statements is/are correct with regard to Human Development Index (HDI) of

India ?

A. India’s HDI value decreased in 2022 after an increase in 2021.

B. India was placed at 134 in HDI rank out of 193 countries in 2022 as per 2023/24 Human
Development Report (HDR).

Choose the correct answer :

(1) Neither A nor B (2) BothAand B

(3) A only (4) Bonly

2 BHTE 57965 9DSYE HrDE (HDI) K0 50200500 (808 O DE/QD SBSE/DBID ?
A, 2PSESTID) S35 @0DSYA JTDE e 2021 & DOAS 5T 5eb 2022 ¢° SHOA.

B. 2023/24 S7d8 @8)S590 8 (HDR) (05050, 2022 &' 193 BresS erd$E30 HDI o°5odueS 134 &
T30S &Od.

DB DTG D0DE DAV :
(1) ASNBAN B BOKY 5 (2) A8 B Bockr
(8) A Jr(edad (4) B IrD

Which of the following statements is/are correct ?

A. India has the ‘demographic advantage’ to produce and supply educated and skilled manpower.
B. India has the largest scientific and technical manpower in the world in 2024.

Choose the correct answer :

(1) A only (2) B only (3) Both A and B (4) Neither Anor B
1BOB T 3DEOS DE/QD DBIE/D ?

A 2rESTBEO DIE0BORD, B0 EOBS IS $8D &8I HOAND ONAD BOHE@E ‘B
(DB (demographic advantage) 08 0.

B. 2r8$330 2024 S (HH0S0S @B FROH OO 7SS $8 A &od.
DB DIFETTR), DODE TOMW

(1) ASPSD (2) B IrSD (3) AHBA0 BTOGT (4 A HOAW B Oy 5%
Match the following phases of growth rates of India’s population with their respective periods :
Phase of growth rate of India’s population Period
A. High growth with definite signs of slowing down 1. 1901 — 1921
B. Rapid high growth II. 1921 -1951
C. Stagnant population III. 1951 -1981
D. Steady growth IV. 1981 -2011
Choose the correct answer :
(1) A-III; B-1V; C-I; D-II (2) A-1V; B-III; C-I; D-II
(3) A-IV; B-I; C-III; D-II (4) A-1V; B-II; C-I; D-III
BHTIF 230727 SO T TINE), 80O B30 °¢3 OO SO 23HNSTHSW :
2SS B2 o3& DV S5 50
A HOBAOT PRSI DOTTOS @S 39O Bew I 1901 — 1921
B. JBEL0HRS H9Q 1. 1921-1951
C QRS BT III. 1951 - 1981
D. DI D& IV. 1981 -2011
OB N DIFPER), DOTNE RN :
(1) A-IIT; B-1V; C-I; D-II (2) A-IV; B-1II; C-I; D-II
(3) A-IV; B-I; C-III; D-II (4) A-IV; B-1I; C-I; D-III
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Which of the following are key dimensions of Human Development Index ?
A. Ability to lead a long and healthy life.

B. Ability to achieve a decent standard of living.

C. Ability to settle in high income areas such as urban centres.

D. Ability to acquire knowledge.

Choose the correct answer :

(1) A,B,Cand D (2) A and B only

(3) A, Band D only (4) CandD only
808 e3¢5 SPITDSYR JDE TINEY EOERD Frehen (BOI) A ?
A AT 0805 esBHRSEES BAEQ), KesNe A s50.

B. 00D BAS (NAPET) PQONE PP S0.

C. OSSO BroeSS HE To[TTOS VI FreNYS0.

D. 20 D09 AP 50.

DB DIFETTR), DODE TOMW
(1) A, B, C 83w D (2) A B3N B Sr(ebad
(3) A, B 805 D X5(ehadd (4)  C B3N D S3°(¢hadd

Which of the following human development composite indices is nro# included in the Human
Development Report (HDR) 2023/2024 of United Nations Development Programme (UNDP) ?

(1) Gender Development Index (GDI)

(2) Multidimensional Poverty Index (MPI)

(3) Happiness Index (HI)

(4) Planetary Pressures-adjusted Human Development Index (PHDI)

180 DERIDES ITITDNYE MIFH AFDEOS” DA 0E5T°BIAWS ©9DSHE HPE0  (UNDP) B0,
3255 @DSYA AFEE (HDR) 2023/2024 &° &P0CNISTI0SE 0 ?

1) Ooff ©9IHE SrDE (Gender Development Index (GDI))
(2) 225TVDSBOD DB SrDE (Multidimensional Poverty Index (MPI))
(3) JoEA SrDE (Happiness Index (HI))

(4) (5535 2,83809- 02N WIS 37 @R SrDE (Planetary Pressures-adjusted Human Development
Index (PHDI))

Which of the following is/are correct with regard to economic growth and development ?

A. Economic growth and economic development are not considered as identical concepts any longer.
B. Economic development is the summation of economic growth and structural advancements.
Choose the correct answer :

(1) Both A and B (2) Neither A nor B

(3) B only (4) Aonly

2308 S98 B0 ©NNYDE H0220H0D o0& ¢3S’ DA/ HBIE/ ?

A 303 390 OO @857 SHE VER 28 BEDS 2SI HBNEI0H23¢hY.

B. &8558 @030 &8 598 08080 dT°eares 8 HBEE Ty, NoEDS0.

OB QAP DOTNET W :
(1) A 833w B Bockr (2) A BN B BO %)
(3) B &r(edad 4) A ST
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Who among the following economists is involved in the construction of ‘Human Development Index’ ?

(1) Mahboob-Ul-Haq (2) Abhijit Banerjee

(3) Jean Dreze (4) Joseph Stiglitz

1B0& 308 IBOS" DB 'H7565 @DHHE SrDE BrdED YIS FeND0THHTY D ?
(1) DHTrsS-&S-§ 2) )RS B

(3) 25 \1&F @) D IS

Which of the following social indicators for basic needs have been used by Hicks and Streeten for
measuring economic development ?

A. Education B. Health C. Sanitation D. Electricity E. Water supply
Choose the correct answer :

(1) A,B,C,Dand E (2) A, CandE only

(3) A, B, C and E only (4) BandD only

BPANE 50T §H0, (B0 FSres SrdEeeS e305°DH90 T8 1808 ¢3S Fe3Q 57§ HBW
IDBS &HTPAOTTS ?

A DS B. 8650 C. J>BHA50 D. XS E. Q& 8900
DB DAFETT ), DODE TOMW

(1) A,B,C,D HO8S»E (2) A, C 0805 E X|ehad

(8) A, B, C 08O E S3(¢bad (4) B OO D Sr(ehad

Which of the following two states were ranked at the top in terms of per capita net state domestic
product in 2021-22 at current prices (with base year 2011-12) ?

A. Sikkim B. Delhi C. Goa D. Gujarat E. Telangana
Choose the correct answer :

(1) A and C only (2) B and C only

(3) A and D only (4) D andE only

& 1808 O Boch Tlarew, 2021-22 & (WS SSOS BELODAES SONO JES TR B0 cred IS
(STE H055e5)30 2011-12) (TS0’ ) d ?

A. D80 B. &9 C. RFa D. HzoS E. S8oomrs
DB DIFETTR), DODE TOMW

(1) A B0 C Sr(ehad (2) B HOAW C S

(3) A B0 D S°(ehadd (4) D X0BOSW E Sr(ehad

Which of the following are the common characteristics of developing countries like India ?
A. Low real per capita income B. Scarcity of capital

C. Low incidence of poverty D. High levels of unemployment

E. More income inequalities
Choose the correct answer :

(1) A, B,D and E only (2) B, Cand D only

(3) A, C and E only 4) A,B,C,Dand E

808 ¢3S, arSESTF0 503 @ESYR TONMS), BFOS GOT TS OFETe0 D ?
A $50)0 U OO ec3r0H0 B. Sreodd §6¢

C. %03 8% 2780 (AIIBS)) D. &8 dSEHT Fonen

E. @88 sP00 @907 ehe

DB DTG, DODE TOMW :

(1) A, B, D 08050 E &5(ehadd (2) B, C 08a%0 D S35°(ehadd

(3) A, C HONW E S (4) A,B,C,D 85 E
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As per the New Labour Code, which of the following statements related to the Occupational Safety,
Health and Working Conditions Code 2020 is/are correct ?

A. Under ‘One Nation — One Ration Card’, an inter-state migrant worker gets ration facility in the
state he works and the remaining family members get ration facility in the state where they
reside.

B. It is mandatory for the employers to provide annual health check-up of the workers.
Choose the correct answer :

(1) A only (2) B only

(3) BothAand B (4) Neither A nor B

£ Sb F& (0530, S9BIB 23(5eh, esBig 00N DA HBJsen §& 2020 § H000HONS §od
T 5DIOS” DO/ SBIE/D ?

A, 2.8 T30 — 28 BAS 58 (80, ©0S TR SO0 SEH00 @95 DT TR0 BAS HIAHO
POCHTTEE DB WAAS Foea02) 2NN TS AXVOT T RO BAS DEVIANO FPOHTED.

B. GH2350e) $II0O™ 0 SPE DD TAS0NS), ([FHoody es8%s HOE.  (health check-up)

Toowd.
DB DAFETTR), DODE TOMW
1) A XD (2) B Xr¢bad
(3) A N8O B Boky (4) A BN B BOKY 5°)

Which of the following statements are correct as per the Human Development Report 2023—24 for
the year 2022 ?

A. India ranks 108th position in gender inequality index.

B. In terms of gender inequality index, India lags behind Bhutan, South Africa and China.
C. Female labour force participation rate in India remains lower than Nepal.
D

. Reproductive health, empowerment and labour market are the three dimensions of gender
inequality index.

Choose the correct answer :

(1) A, B and C only

(2) A, B and D only

(3) B, C and D only

(4) A, C and D only

S5°95 @SYR AFEE 2023-24 (D5°S0, 2022 D05 ITAE HODOEOD (E0A F5WIOES D HBID ?
A. ol @355 ArDES’ erESTF0 108 & TS0’ &0d.

B. 0t @d55r3¢8 Qg (D580, 2rESB30 BrerS, 986 SRS HOAN T BFOER") ISR
€O8.

C. 2PSSTI0 TNEY | (30 38 2t se0s B IS Sy AHSS 0.

D. HSBeIE 3850, QTS OO (F°0E 5783¢5 €951 oK @87 HrES” sarcdd Searen.
DB DSFETT ), DODE TOMW

(1) A, B H805» C S5°(ehad

(2) A, B H805m D S(ehadd

(3) B, C 0805 D X(ehadd

4) A, C B35» D Sr(edad
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Which of the following statements regarding the main objectives behind conducting Socio-Economic
and Caste Census 2011 are correct ?

A. To enable ranking of households based on their socio-economic status.
B. To make available authentic information on caste-wise population enumeration.

C. To make available authentic information regarding socio-economic condition and educational
status of various castes and sections of population.

D. To make available authentic information on domestic workers.
Choose the correct answer :

(1) A, Band D only (2) A, Band C only
(3) B, C and D only (4) A, CandD only

528 5-e30%8 0805 F0e BEIS 2011 ABLIPOTIB0 SNE &) DTS ©OFTIOZ Ho0H0D) 808 ¢3S’
DD B ?

A Xre38-e30% D& &5rE0mT F0en02rerdd 0°s0808 TAHEO.
B. 30e7e-8 83772 $e9c5e3) [PSrESE T DSTTSEOMP 900N &0tdso.
C

LAY Boeren HOA BRI T wrSrRd-es8s, DN VBEBOR  (rSredE DS donT
902N GOTIEO.

D. s> 58K [FSTeSE HDATFTSE0 900N E0TIe0.

DB DAFETTR), DODE TOMW
(1) A, B 308050 D Sr(ebad (2) A, B 805 C Sr(eba
(3) B, C s0HB0S» D X5(ehadd (4) A, C08a5%0 D S5°(ehadd

Which of the following statements is/are correct about Millennium Development Goals (MDGs) ?
A. MDGs have 8 development goals.

B. MDGs consist of 40 indicators.

Choose the correct answer :

(1) A only (2) B only (3) Both A and B (4) Neither A nor B
&3 1808 55O, DOJONO @DSHD ©F5OZ (MDGs) HOOE0D) HETIN DE/D ?

A. MDG &0 8 @DNy8 OF s ¥DB &) ow.

B. MDG e 40 Q8 ¥ &) ow.

QOB DT, DOVE TANXW

1) A S (2) B3 (3) ABASHBTOr (4) A N8O B BOLy 5%
Arrange the following educational schemes of Indian Government in chronological order :
A. PM e-VIDYA B. Skill India Mission

C. Unnat Bharat Abhiyan D. NIPUN Bharat Mission

Choose the correct answer :

(1) A,B,D,C 2 C,D,AB 3 ACB,D 4) C,B,AD
BO& 257868 (D205 559 DTS DT T (FedPDTE0 €960 ed :

A, D0 Q- B. 32§ 28¢5 AR

C. &3S PSS DOSTS D.  HS (NIPUN) eSS 1S

DB DIPTR), DODE O

(1) A,B,D,C (2) C,D,A,B (3) A,C,B,D (4 C,B,AD
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In 2022-23 Union Budget, the proposed allocation for Housing for All under PM Awas Yojana was
around :
(1) T 52 thousand crores for 60 lakh houses

(2) T 48 thousand crores for 80 lakh houses

(3) T 36 thousand crores for 70 lakh houses

(4) T 28 thousand crores for 30 lakh houses

2022-23 B0 BES, DS DO ST TWrad DHF0 180 @088 @0y (Housing for All)
©O0A0TOLNEL (DBF A TEFPON0R) SR :

(1) 52 I T SraroHen 60 ©F o 3y FE%0

(2) 48 I T SraroHen 80 ©F o 3y 8%

(3) 36 J© L EFI0HEN 70 ©F© ¥ FBE

(4) 28 I T SraroHen 30 ©F o 3y FE%0

Under the ‘Nai Roshni Scheme’, which of the following are covered in the training module ?
A. Swachh Bharat B. Life skills

C. Financial literacy D. Old age pension

E. Health and hygiene

Chose the correct answer :

(1) A, B, C and E only (2) B, C and D only

(3) A, B and E only 4) A,B,C,Dand E

1500 F'NES HHE0’ .69 S3chrsSeS, 80O a7e3¢S” D BB YdGTOW ?

A 55 e B. 22358 S)ersen

C. DS g Tdseh D.  S9TNS DO

E. es850 050 S8 (25¢h

DB DSFETTR), DODE T3OMW

(1) A, B, C 00Nw E (b (2) B, C 08A%0 D &35°(ehadd
(3) A, B OO E S5 (4) A,B,C,DOASNE

Which of the following statements about the United Nations Development Programme’s (UNDP’s)

Gender Social Norms Index (GSNI’s) 2023 is/are correct ?

A. Tt quantifies biases against women and transgender persons.

B. It captures people’s attitudes on women’s roles along four key dimensions : political, educational,
economic and physical integrity.

Choose the correct answer :

(1) Aonly (2) Bonly

(3) Both A and B (4) Neither A nor B

0850°235 DS ©DIH® DPHE0 (UNDP) By Ooff rdreds Q2030 Qrd¥ (GSNI) 2023 (H800), (8od
5506 OBIE DA/ ?

A 3O |00 OO SHODKE (EFSIBOGS) D DEFETO BELROA.

B. 98 ooa8ah, S5 @0 HOOM FTHE DS ©9F renth §of Fre HrTe GO (HB
S8 HOHSTROR.

DB DIPTR), DODE O
1) A Sr(eded (2) B3
(3) A NBAW B B0y (4) A B B BOKY 5°)



119.

120.

121.

[r]: FKfaira Fipona 40 Kepuira g O

As per National Family Health Survey-5 (2019-21), arrange the following states in descending
order, in terms of neo-natal mortality rates :

A. Bihar B. Jharkhand

C. Madhya Pradesh D. Telangana

E. Uttar Pradesh

Choose the correct answer :

(1) AJE,C,D,B (2) E,AC,B,D 3) E,A,B,D,C 4) ACE,B,D

20D Hen0 @8y HBE-5 (2019-21) (DFS0 dSeres 3H NSO BE S9als, & (808 T arO
ST TET Ee006S’ @508 )W

A, D56 B. &rgo&

C. NP5 1HTT D. S8®omres

E. &3 1033

DB DIFETTR), DODE T3OMW

(1) AJE,C,D,B (2) E,AC,B,D 3 E,AB,D,C 4 ACEB,D

Which of the following concepts of unemployment are developed by the National Sample Survey
Office (NSSO) in India ?

A. Usual status unemployment B. Current monthly status unemployment
C. Current weekly status unemployment D. Current daily status unemployment
Choose the correct answer :

(1) A,B,Cand D (2) A, Band C only

(3) B, C and D only (4) A, CandD only

2ESTBF0S’ SASS 70DS OB S @0 (NSS0) & £T7, 808 ABE 5K 2733 DD @9ESHQ TODDT°0w ?
A S o ABE A B. [0 Jerard o QS shed

C. ONS 8 Fon A& shes D. (DN e 8 0w B sAch

DB DTG R, DODE TIOMW :

(1) A, B, C 8350 D (2) A, BXOAW C S7(edad

(3) B, C 0B» D X7(ehadd (4) A, C 08a%0 D S35°(ehadd

Which of the following statements are correct with regard to the Scheme for Providing Self-

Employment to Educated Unemployed Youth (SEEUY) ?

A. The scheme was originally introduced in Maharashtra as Employment Guarantee Scheme
(EGS).

B. It was introduced by the Government of India in 1986.

C. Its aim was to encourage the educated unemployed youth to undertake self-employment
ventures in industry, service and business.

D. The educated youth should be in the age group of 18 — 35 years.

Choose the correct answer :

(1) A and D only (2) C and D only

(3) A, B and C only (4) B, Cand D only

25¢09B05), ABESHE CINSHR HOH0 Grd OI0T P80 (SEEUY) £ H02080D 8§08 rssereS

DBID DD ?

A DG AIQ HDITRS &ESH 550 HHZ0 (EGS) M 19535 20830,

B. 1986 ¢S’ HAQ 275es (55206550 (9535 0¢308.

C. JTES0SBS ABESH O30 DBF), DS HBAN PSS HION0 Gard Jodddd BILer
(8¢5)57r05¢80 A &BO.

D. DT830 BS OS0ded 18 0B 35 DF NS Gomd.

DB DSFETTR), DODE TOMW
(1) A B D X(ehad (2)  C BN D S3°(ehadd
(3) A, B s0805» C S3°(ehadd (4) B, C 08a%0 D S5°(¢hadd
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Poverty can be classified into the following :

A. Absolute poverty B. Primary poverty

C. Relative poverty D. Secondary poverty
Choose the correct answer :

(1) A)B,Cand D (2) A and C only

(3) B and D only (4) Aonly

DAOY, 8oB NS0T HOEB0TISTDY :

A, QEDE B880 B.  ([°OE N8%0

C. D& D60 D. &530% (RE0%E) 28880
DB DTG D0DE DAV :

(1) A, B, C8AS» D (2) A SO C S

(3) B 08050 D S°(ebadd 4) A ST

Arrange the following schemes of Indian Government in chronological order on the basis of their
launching :

A. Beti Bachao, Beti Padhao (BBBP)

B. National Rural Livelihood Mission (NRLM)

C. PM Street Vendor’s Atma Nirbhar Nidhi (PM SVANidhi)

D. Swachh Bharat Mission-Urban (SBM-U)

Choose the correct answer :

(1) B,D,A,C (2) D,AB,C 3) B,AC,D (4) C,D,A,B
255 1029065 55) 80 DHTON 3°¢3 (B 0250 SGFSOT SP(E3TrDRTGOMT €900 o3 :
A 8GO B8 .0, BNV AV (BBBP)

B. 2eaD (Paoed 2235 S'rE 1AS (NRLM)

C. D0 DO TR e D86 JQ(PM SVANidhi)

D. D59) 278 DAN-0Ee (SBM-U)

DB DTG, DODE TOAWIW
(1) B,D,A,C (2) D,A,B,C (3) B,A,C,D (4 C,D,A B
Match the following Indian Government initiatives with their aims/objectives :
Programme Objectives
A. Mission Indradhanush I. Assured minimum pension for senior citizens
B. eSanjeevani II. Conservation of water for the future
C. Pradhan Mantri Vaya Vandana Yojana III. Universal immunization programme
D. Mission Amrit Sarovar IV. Providing sustainable drinking water

V. To enable patient-to-doctor teleconsultation
Choose the correct answer :

(1) A-V, B-1, C-IV, D-II (2) A-IIL, B-IV, C-I, D-V
(3) A-IV, B-V, C-II, D-III (4) A-IIL, B-V, C-I, D-II
1BO& 28¢5 (D206 ¢ SEFESTOR 3¢3 OFFEN/ GLF S 23HDGTHSM
D@50 &5V

A DAS QOISSEHD L S)Bes 533 SEFS SrdS D0t S0
B. @D0&3 I 2535 §00 e HodE e

C. (DTS 00 S0DH 30X Tresd I S 538 B BE 578580

D. AS @909 OFSD IV. Q08 (800 3 e90H0HE0

V. OR8-3C058 055 BOEINTAS Q @0H0NEE

OB QAT DOTHE 0 :

(1) A-V,B-I, C-1V, D-II (2) A-II, B-1V, C-1, D-V

(3) A-1V, B-V, C-II, D-III (4) A-II, B-V, C-1, D-II
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As per NITI Aayog’s report on ‘multidimensional poverty in India since 2005—2006’, which of the
following states showed fastest decline in the number of multidimensional poor ?

Uttar Pradesh

Rajasthan

Odisha

Madhya Pradesh

Bihar

Choose the correct answer :

(1) A, B, C and E only (2) A, D andE only
(3) A,B,D and E only (4) B, Cand D only

DB SB/rh BwE) 2PSHTI 2TVOVBAD WDABE0 JFOE 2005-20068' (D5S0, 808 T(rOS D
SHS0HT 5TV DI SHEDK ESDHETTON ?

A &S 1035
B. 0°23°

C. 2,&ar

D. 510D

E. &35

DB DSTETR), DODE TIOMW :

(1) A, B, C 8050 E S3(¢be (2) A, DSOS E S(¢hadd
(3) A, B, D 0805» E Sr(ehad (4) B, C 080 D S

= o aw»

Which of the following are recognized as engines under PM Gati Shakti for economic growth and
sustainable development ?

Logistics infrastructure
Housing
Airports

Railways

HOoawy»

Waterways

Choose the correct answer :

(1) A, B and E only (2) B, Cand D only

(3) A, C,D and E only 4 A,B,C,Dand E

2308 5980 B VSR 9DSYA 80 DO K3 $8 80¢5, 80& 73S’ D R0RS e HEOTIDET W ?
288 5°OE Heasrex (logistics infrastructure)

B8 ) (housing)

ANV N IOV

BB gen

E. Q¢ 0ogren (waterways)

QB DIFPTR), DODE O

(1) A, B H805W E SS5°(e5add (2) B, C 08a%0 D 35°(ehadd
(3) A, C, D X805 E X°(ehadd (4) A,B,C,D 8% E

oS aw»
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Which of the following statements regarding Prime Minister Awas Yojana (PMAY)-Urban scheme
are correct ?

A. It is intended to provide housing for all in urban areas by 2025.
B. Affordable Rental Housing Complexes (ARHCs) is a sub-scheme under this scheme.

C. The scheme has made a mandatory provision for the female head of the family to be the owner or
co-owner.

Choose the correct answer :

(1) A and B only (2) Band C only

(3) A and C only (4) A,BandC

DG°S DO( e3R-T3235-D8)ea (PMAY-Urban) HE5RE 00200H0D 80 FSVIOS” DD SBI ?
A. 2025 T°¢38 D8 [OOSR @088 $95FreD @OBONETIE VA GTFOIDR0E.

B. & O350 HEIDS T Kga HDnasren (ARHCs) @96 2.8 &H-I6%0.

C. & HOE0 80¢5, Zoen0DOSQ P @AIB (3G K9oT ONBLITIMT B> HeFP-ANBIFIMT GOTOD
Q22033 DN TIOA.

DB DXFPETTRY, DOVE AWM :
(1) A B0 B Sr(ehad (2) B OO C S
(3) A 0B35W C Sr(ehad (4) A, B85 C

Which of the following statements on Garib Kalyan Rojgar Abhiyaan (GKRA) are correct ?
It was launched in 2021.

It aims to provide 125 days of employment.

It focuses on Gulf migrant workers only.

It was launched in Bihar, Jharkhand, Madhya Pradesh, Odisha, Rajasthan and Uttar Pradesh
states in the country.

oow R

Choose the correct answer :

(1) A, B and C only

(2) B, C and D only

(3) B and C only

(4) B and D only

5825 Ssed Ee8 0 eSS (GKRA) 50 5020800 (808 a5 DD OB ?
A 382021 S (FB0DOBDR0A.

B. 125 820 &rd §©30t5¢0 A &T30.

C. A KBS SO 52850 3 Sr(ehad B DRB0A.

D

. B BEoS ASB, SrBo&, NG5 (HBT, aBar, TBTS HOOW GBS (DBF olarosS’
PE0DOTT.

DB DTG, DODE TASWW
(1) A, B 830 C S

(2) B, C 080w D Sr(ehadd

(3) B 0835» C Sr(ehad

(4) B 080w D X(ehad
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Which of the following statements with regard to Multidimensional Poverty Index (MPI) is/are
correct ?

A. Human Development Report 2010 introduced this concept.

B. Education, health, communication and standard of living are its dimensions.
Choose the correct answer :

(1) Neither A nor B (2) Both A and B

(3) A only (4) Bonly

225TONBAD DEBE HrDE (MPI) 50 H0220800) 808 5O’ AB/DD DBIE/D ?
A 3RS @DIHE ATEE (HDR) 2010 & 277550 D33 20¢308.

B. S es850, E075QBAS S00A50 285 (6356 oW, T Searew.

DB DAFGETR)), D0DE TANXW
(1) A SNBSS B BO&Y 5°%) (2) A B B oy
(8) A Jr(e5dd (4) BT

Under Mahatma Gandhi National Rural Employment Guarantee Act (MNREGA), which index is
used for the revision of wage rates ?

(1) Consumer Price Index for Rural Labour (CPI-RL)

(2) Consumer Price Index for Agricultural Labour (CPI-AL)
(3) Wholesale Price Index for Agricultural Labour (WPI-AL)
(4) Wholesale Price Index for Industrial Labour (WPI-IL)

0Peh TOE 2BOD (PadEd Gard TN 0 (MNREGA) (808 & s Jevdd 053 B §650
G IBrR0TI0CS0E ?

(1) ([TPaDed BB B0 DATIrHT S S8 SQrd) (CPI-RL)

(2) SISO (B FEH DATZrHETEI dSe> ) (CPI-AL)

(3) NS5O (FNEOS FBEL ¢3°80 S8 ) (WPI-AL)

(4) BFE (F1oe FBE ¢3°%0 e HE) (WPI-IL)

Which of the following are the salient features of the Special Economic Zones (SEZ) scheme of the
Government of India ?

No licence is required for exports.

Manufacturing activities are allowed.

Licence is not necessary for imports.

SEZ units cannot give subcontracting.

HOow R

Service sector activities are allowed.

Choose the correct answer :

(1) A,B,C,Dand E (2) A, CandD only

(3) B, C and E only (4) A, B,DandE only

1Bo& ¢3S arSeh (525065 50 TINEY (9B5E 308 H0%ered (SEZ) DHED) S0P B0 D ?
A QDA TBZ DENN0ES BAS) ©5380 BS.

B. 058 (manufacturing) S°E5E357e0 @ 00301928 00.

C. OHHNBOZ BRI @3080 B.

D. (8355 ©30% Hocere S’ AHrdEY & SPo(Ers oo @ ST,

E. o 306 53588500 e9::083092%&°an.

DB DIPTR), DODE O
(1) A, B,C,D 80w E (2) A, C08A50 D S5°(ehadd
(3) B, C 0B0W E 35°(e5add (4) A, B, D OSW E S5
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According to the 2011 Census, the top three Indian metropolitan cities in terms of urban population
are :

(1) Mumbai, Bengaluru, Kolkata (2) Mumbai, Kolkata, Chennai
(3) Mumbai, Delhi, Kolkata (4) Kolkata, Chennai, Bengaluru
2011 27°2F SEL (DS°S0, a3 ST 8°2> DGO RNCHES s03°¢hd 2GS0 SHTEeD |
(1) 003, Borerd, SSEeS 2) S00B, FSES, IIJ)

(3) S00B, B, FSES @) FSES, T, BoHETE

Who formulated the National Rehabilitation and Resettlement Policy, 2007 ?

(1) Land Reforms Division of Department of Land Resources under the Ministry of Rural
Development

(2) Land Resettlement Division of Department of Land Resources under the Ministry of Rural
Development

(3) Rehabilitation Division of Department of Land Resources under the Ministry of Rural
Development

(4) Land Reforms Division of Department of Land and Water Resources under the Ministry of Rural
Development

205 HSTZTO0 BN HSTZT DGO, 2007 & eI EFFOBOTTS / OT(BEBOTTE ?
(1) ([TPaETDSYE O3¢5 ¢ Foe TZNEY 255° HIBE 2550 D0 B D2 Hedn

(2) TaDETrdN9d 0|83 § 7 TBNEY 255 53K 255 T3 DT Hed0

(3) UTaDETrd S8 0836 § 7 TZ0E) 25T SHES HST*aD D2rtiedn

(4) ([TETDNYQ 00( 836 § B°P TINEY, 255 DO D3 SIBI 257 DO B D2Friedn

Based on the urbanization rate (%), as per Census 2011 data, arrange the following states in
descending order :

A. Karnataka B. Kerala C. Maharashtra

D. Tamil Nadu E. Punjab

Choose the correct answer :

(1) C,D,AE,B 20 A,C,D,B,E 3 C,B,D,AE 4 D,B,C,AE

2011 237> B (DSS0 DEEFES BEN (%) SISO, (808 T PO X sTem (50 955808 :
A. Zom) e B. 3¢ C. S0

D. SQFo E. dozrd

QOB DT, DOVE TSN

(1) C,D,AE,B (2) ACD,BE (3) C,B,D,AE (4) D,B,C,AE

According to Migration in India Report 2020-2021, which of the following statements is/are correct ?

A. The All India migration rate was 28-:9% for July 2020 — June 2021 with a 26-5% migration rate in
rural areas and 34:9% in urban areas.

B. In rural India, when compared to women, men recorded a higher rate of migration.

Choose the correct answer :

(1) A only (2) Bonly

(3) Both A and B (4) Neither A nor B

2PBHTFOS” 57369 SO AIEE 2020-2021 [5G0, (80E 5D DE/DD 25 ?

A S S0 Bew, S 2020 — 2378 2021 o°e38 IS0 2rESTI0S” 28:9% M, (Paded [roeeesS
26:5% TP SOOI DD [FoTeeS” 34-9% P &GOO.

B. (P00 2SESTE SO BEND (QOS 5O 3D, HHBE0EN OE BENKD SR TFD.
DB DSFETTR), DODE TOMW

1) A ST (2) B IS

(3) A NBAW B Bo&ky (4) A DB B BOKY 55
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From ‘World Inequality Report 2022’ for India, which of the following statements is/are
correct ?

A. The report presents that inequality of income in India has been increasing in the last few
decades.

B. The report suggests that inequality of wealth in India has been decreasing in the last few
decades.

Choose the correct answer :

(1) A only (2) B only (3) Both A and B (4) Neither A nor B
D0 ISTIB AIOE 2022 &' 23BSTIFO MHOODS &t 80 WS DE/DD 20 ?

A, S J3OE 10580 erEHB30S ST SIS KHed T 9T BT Eaae) ON.

B. & Q3O (D5°50 2780 H0DDO @S8rdehen Heh §QY C97°eFen™ bt ow.

DB DAFETR), D0DE TANXW

(1) A Sr|edad (2) B Srehad (3) ABASHBTO> (4) A HBAN B BOLYy 5%

Which of the following statements is/are true as per Article 300A of Constitution of India ?

A. The government can impose ceiling on land holdings.

B. Right to property is only a legal right.

Choose the correct answer :

(1) A only (2) B only (3) Both A and B (4) Neither Anor B

23 3¢h T2 S0N0S Q) 9OEE0 300A [HDSB0, (OO TS DA /D 2y ?

A, BrE0TO 0 (206550 K585 DOWB DEOTIHTD)).

B. & 7805 (D00 3OO LD 3780 Se(eha.

DB DIFETTR), DODE T30

1) A S (2) BT (3) ADBCASHBTOr (4) A HBAN B BOLY 5°)

Right to Fair Compensation and Transparency in Land Acquisition, Rehabilitation and
Resettlement Act was passed in the year :

(1) 2003 (2) 2008 (3) 2013 (4) 2018

BrVEG, JSTTN0, PIONDS DBIFS0 DO FBBES T8y O & NDONSIE0S 238
BOHDE0E ?

(1) 2003 (2) 2008 (3) 2013 (4) 2018

Which of the following statements about the Forest Rights Act (FRA), 2006 is/are correct ?
A. The Act encompasses rights of self-cultivation and habitation.

B. The Act reduced the importance of Gram Sabha.

Choose the correct answer :

(1) A only (2) Bonly

(3) Both A and B (4) Neither A nor B

e 37803 5O (FRA), 2006 [5G0 &2 (8§08 s DE/QD 2.0 ?

A, S DS DIODIHD OO T 578030 FOCRDGTIDTOW.

B. 880 (Mo 029 B30E) (arerdsedad SHood.

DB DIPTR), DODE O
1) A S (2) B3
(3) A NBAW B oy (4) A B B BOKY 5°)
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Which of the following are the reasons or factors influencing rural to urban migration in India in
general ?

A. Climatic and meteorological disasters like floods and droughts often compelled the people to
leave the villages.

B. Youth have shown a tendency to look for jobs in the cities.

C. Educated and technically skilled persons prefer to leave for cities for better opportunities.

D. Higher wages in urban areas attract people to migrate.

Choose the correct answer :

(1) A, Cand D only (2) BandD only

3) A,B,Cand D (4) A, Band C only

1808 ¢3S’ erBHTFOCS, PG EEIOMT, (P (OB OB HLED (FOTOZ SOIOZ KO SSeTen S

SOIOR (DTFVH0 TR 0T D ?

A TTPIEE DOAW TEISED D00 DNBEN T SSEIEN, EBeY@ PO (D3N (MPTredradd SO
e,

B. QTS Gard SEE0 0506365 [P 0B DEETOE SOH ST .

C. HOTOS DBFS 0357 FEED DT590e500 HBAN )50 EOBD S (PATe OB HEETFOZ
IR,

D. JOTOS DBy SSHTOR e350AS (TP D0EG (2360 DEETOE SO IFeS.
DB DI R), DODE TOMW :

(1) A, C 80 D X(ehad (2) B B3N D &S5°(hadd

(3) A, B, C8a5» D (4) A, BX08A% C Xr|ehad

‘Har Medh Par Ped’ scheme was launched in the year :

(1) 2012-13 (2) 2014-15
(3) 2016-17 (4) 2018-19
50 A DB DE” DPTR), (PE0DODS DN IS0

(1) 2012-13 (2) 2014-15
(3) 2016-17 (4) 2018-19

Which one of the following Acts related to environment was enacted in 1995 ?
(1) The Municipal Solid Waste Management Act

(2) The Noise Pollution Regulation Act

(3) The National Environmental Tribunal Act

(4) The Batteries Management Act

DTSSR’ HODEODS 180E & IEFD), 1995 & TFS ?
(1) S0QINS NS 35T QB §3°ed DO

(2) 32 eNNS ($00QEG H&Oo

(3) 208 DHTEIBED (32059 IO

4) 2rgerde QB g5 DO
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In which year was the National Green Tribunal Act enacted ?

(1) 2008 (2) 2009 (3) 2010 (4) 2018
205 TS (E32055S IO & H0SSI50S HETOE ?
(1) 2008 (2) 2009 (3) 2010 (4) 2018

Match the following Sustainable Development Goal numbers with their objectives :

Sustainable Development Goal Number Objective
A1 I. End poverty everywhere
B. 5 II. Ensuring affordable and clean energy to all
C. 7 III. Reduce inequality within and among countries
D. 10 IV. Gender equality and empowerment of women

V. End hunger and malnutrition
Choose the correct answer :

(1) A-I; B-V; C-II; D-III (2) A-II; B-I; C-III; D-V
(3) A-I; B-1V; C-II; D-III (4) A-II; B-III; C-I; D-IV
1BOA VTN E ©F.§ DOWIDD a3°¢3 OF SIS 235DBT0EM

WPTDaS) P L f0 Doy g0

A 1 L (08 5% 0888 A8

B. 5 IL D3OS (affordable) sHBOSN DI K050 9068

©027eNS’ GOTIEI0
c. 7 1. T30 SHO BN BF DS @DSTISHO8 SH0TIE0
D. 10 IV. O0f 8PS DO I F> OGS
V. &8 OO a5’ S °Q), (malnutrition) SHOSEIO

QBN DIPERR), DOTNE RV :

(1) A-I; B-V; C-I; D-III (2) A-IL; B-I, C-IIT; D-V

(3) A-L; B-IV; C-II; D-III (4) A-IL; B-II; C-I; D-IV

Which of the following statements related to Chipko movement is/are true ?
A. Chipko movement is aimed at protecting trees and forests.

B. This movement originated in the Himalayan region of India in 1973.
Choose the correct answer :

(1) A only

(2) B only

(3) Both A and B

(4) Neither A nor B

DNE &5557A8 H020H0D) 180 T WS DE/AD 20 ?

A T8 SO0 590 B8 OTIEI0 & B850 TBNE) STHO.

B. 2rSSE30S R rSredad (r0e0eS 1973 & & €5¢3500 e300 oA,
DB DTG, DODE TOMW

1) A S

(2) B Sy

(8) A NGO B 3oy

(4) A B0 B BO&KY 5%
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Which of the following statements is/are true ?

A. National Mission for a Green India was launched in the year 2012.

B. National Bamboo Mission was launched in 2012.

Choose the correct answer :

(1) B only (2) A only (3) Both A and B (4) Neither A nor B

18O WO’ DE/DD 208 ?

A TAIS MAS HB Q IBS OB 2012 & HoXS 50 BrS0DOTT.

B. 333S 250205 (bamboo) DAS 2012 ¢ (S0 0T S.

DB DTG D0DE DAV :

(1) B Sr(edad (2) A ST (3) ADBASHBTOG> (4) A NBAN B BOLy 5°)

Which of the following statements are true in relation to The Water (Prevention and Control of
Pollution) Amendment Act, 2024 ?

A. This Act of Parliament received the assent of the President of India in February 2024.

This Act was enacted by the Parliament in the 76th year of the Republic of India.

This Act applies, in the first instance, to Delhi and Telangana states only.

Scaw

Any person who fails to pay the penalty imposed under the provisions of this Act within ninety
days of such imposition shall be punishable.

Choose the correct answer :

(1) A, Cand D only (2) BandD only

(3) A, B and C only (4) A and D only

D3 (505 DB DTN DONO|HED) DS IO, 2024 8O H00HO0D (0B F5WIOS” DD 250 ?

A, PE0LN TS S8 T9EI0 DI2SB 2024 & 2rGeh TN WRFS0 FOSOL.

B. 2r3ST 765 5eacholeh 0551506 FPI0en &t tIEr) B0 8808,

C. &5 5ErQ) St ST GO BN BOOME TYaFOK SF($5H HBOHTANEIO 2BA0A.

D. &8 é@o@sc‘b QA3 QOBIO (HFE0, DSBS ONS BT DEOTIEIO BENNSOE TS 3OST®

=)
o

DEODD S0 Fared) S, T TOOWEFS ID e Ye .

DB DAFETTR), DODE TOMW

(1) A, C 83w D Sr(edad (2) B OO D Sr(ehad

(3) A, B 0O C S5 (4) A X85 D Se(ebad

As per Forest Survey of India, which of the following are classes of forest cover ?
A. Very dense forest B. Open forest

C. Moderately dense forest D. Mangrove

Choose the correct answer :

(1) B and C only (2) A,B,CandD

(3) A, C and D only (4) Band D only

DB OB @D YOBOT (HSB0, (808 ¢3S D @edrd AT (forest cover) SR SSisdEN ?
A e QRS @98 B. 23308 @

C. D00 QI e D. ¢ &%

DB DIPTR), DODE O

(1) B X0805» C &(ehad (2) A, B,C X805 D

(8) A, C SHOAW D Sr(ehad (4) B HOAW D Sr(ehad



149. Arrange the following Acts in chronological order :
A. The Compensatory Afforestation Fund Act
B. The Wild Life (Protection) Act
C. The Biological Diversity Act
D. The Environment (Protection) Act

Choose the correct answer :

(1) B,C,D,A (2) B,D,C,A
(3) D,B,C,A 4) AC,B,D

B HEFeD OO E0 @B 0 :
A DBIS €981 DONE0 DA WO

B. 3§ e (D088 8) 580

C. 83BN S5&0

D. D098 (D8BE.£9) WSO

DB DIFETTR), DODE TOMW
(1) B,C,D,A 2 B,D,C A
3) D,B,C, A 4) ACB,D

150. Match the following conferences with the year in which the conferences were held :

Name of the Conference

Earth Summit, Rio-de-Janeiro

oow

United Nations Summit on Sustainable Development
Choose the correct answer :

(1) A-II; B-I; C-1V; D-III

(2) A-II; B-I; C-III; D-IV

(3) A-III; B-II; C-I; D-IV

(4) A-I; B-II; C-III; D-IV

& (808 DIrSFO @) 288 D05 IS0 23¢h DSTHW :
D50 DD

N DTRG0 08507235 DN DI 3F0, S
DB N, BBr-G-2A8

DY @DIIAR (DN BPT DSrS30, I 00P
D. 008 @B D 08507235 D& PO DA SF0
OB QAP DOTHE W :

(1) A-IL B-I; C-IV; D-III

(2) A-II; B-I; C-III; D-IV

(3) A-IIL; B-IL; C-I; D-IV

(4) A-I, B-1I; C-IIT; D-IV

a = »

El d’@‘m‘@d d@‘mw (50)

United Nations Conference on the Human Environment, Stockholm

World Summit on Sustainable Development, Johannesburg

DO0Se3)B0
1. 1992
II. 1972
III. 2015
V. 2002

Kegfaira

Year

I. 1992

II. 1972

II1. 2015

V. 2002
Kerfackd



[

Keofaira

SPACE FOR ROUGH WORK



[

Keofaira

SPACE FOR ROUGH WORK



